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TEMA «FARM MACHINERY»

ConepxaHue TEKCTOB MMEET CBOEH IIETIbI0 JalbHEHIIee 3HAKOMCTBO
CTYACHTOB C SI3bIKOM OyAyIIel CHEIHaTIbHOCTH B COOTBETCTBUU C peallb-
HO CYLIECTBYIOLUIMMH HAaIPaBJICHUSIMH ArpOMH)KECHEPHH, BKIIOYAIOIICH
Takue cepbl KaKk PEeMOHTHO-TEXHHYECKOE OOCIYXHMBaHHE B CEIbCKOM
XO35HCTBE, MaTepUaIbHO-TEXHMYECKOE OOecleueHe MPOLEecCOB MPOU3-
BOJICTBA M NEPepadOTKHN, OXpaHa TPyAa Ha NPEANPUATHIX arporpOMBbIIL-
JICHHOTO KOMIUIEKCA, CEJIbCKOXO03SICTBEHHOE MAIIMHOCTPOEHHE, TEXHO-
JIOTHS TIPOW3BOJCTBA U MEPEPA0OTKH CEBCKOXO3IUCTBEHHOW NPOIYK-
muu. ['paMMaTiyeckre Tembl BBIACNICHBI Ha OCHOBE YaCTOTHOCTH HX
YHOTpeOJICHNs1 B OpUTHHANBHOW nuTeparype. llpeacraBneHsl Bce BUIBI
00y4YeHHsl YTEHHUIO, YTO MO3BOJHUT CTYICHTAM OCBOMTH Pa3JIMUHBbIC TaK-
TUKH U CTPATErHHu NepepaboTKU TEKCTOBOH MH(OPMAaLIUH.

B pe3yabTaTe H3y4eHHsI TEMbI CTYAEHT JA0JKEH:

® 3HATD:

1 ypoenb (A): 1) nexcuueckuit MaTtepuan 1o Teme «Farm
Machinery»; 2) a) noHstue HHOUHHTUBA, €r0 MPU3HAKU, POPMBI UHPH-
HUTHBA B JICHCTBUTENFHOM M CTPaJaTelIbHOM 3ayiore, GyHKIUU B Mpe-
noxenuu (The Infinitive), 6) oobexTHbIN nHGUHUTHBHBIN (The Complex
Object) u mpuyactHbiii 060opot (The Objective with the Participle), B)
cyobektHbl MHGuHUTHBHBIN (The Complex Subject) m mpuvacTHBIHA
obopor (The Subjective with the Participle), r) abconroTHbIN mpHYacT-
HbIi 000poT (The Absolute Participial Construction), 1) repyHIUaTbHBIHA
o6opot (The Gerundial Complex).

MakcumanbHasi OleHKa 3HAHUil Ha 1 ypoBHe (PErpOoyKTHBHOM) —
6 6as10B.

2 ypoBenb (B): 3HaTh M XapakTepu30BaTh: 1) JIEKCHUECKUIT MaTe-
puan o teme «Farm Machinery»; 2) a) npu3Haku nHOUHUTHBA, (HOPMBI
MHQUHHATHBA B JCHCTBUTEIFHOM M CTpagaTelbHOM 3ajore, (GpyHKIUH
napunutnBa (The Infinitive), 0) oOvekTHbII wHGUHUTHBHEI (The
Complex Object) n npuuactasiii 060poT (The Objective with the Partici-
ple), B) cyObextHbid nHGuHUTHBHBIA (The Complex Subject) n mpuya-
ctablii o0opot (The Subjective with the Participle), r) abcomoTHbIH
npuuactablii 00opot (The Absolute Participial Construction), 1) repyH-
muanbHbiii 000poT (The Gerundial Complex)..

MakcumanbHasi OlleHKa 3HAHWI HA 2 ypoBHe (IPOJYKTUBHOM) —
8 0asnoB.



3 ypoBens (C): 3HaTh, XapaKTepu30BaTh M aHAJIN3MPOBATHL: 1)
JIeKCH4YecKuid Marepual no TemMe « Farm Machinery»; 2) a) ¢dopmbl uH-
(UHHTHBA B JEHCTBUTEIBHOM M CTPAJATEIbHOM 3aJI0T€ B Pa3IHYHBIX
¢ysakuusx B npepioxkennn (The Infinitive), 6) 00beKTHBI HHOUHUTHB-
Hbli (The Complex Object) n npuuactheiii 060poT (The Objective with
the Participle), B) cyObekrnbili nHGuuuTHBHBIA (The Complex Subject)
u npuyactHeii 06opoT (The Subjective with the Participial), ) abco-
moTHbIA npuuactHeid 000poT (The Absolute Participial Construction),
1) TePYHAHANBHBIA 000POT B MPEIIOKEHHUSIX M PEUCBBIX BHICKa3bIBAHHAX
(The Gerundial Complex).

MakcumaabHasi OleHKA 3HAHWUWA HAa 3 ypoBHe (TBOPYECKOM) —
10 6annoB.

® yMeThb:

1 ypoBens (A): 1) aHANM3UPOBATH WHOSI3BIYHBIA TEKCT (€r0 CTPYK-
TypHBIE, JIEKCUYECKHE U CTUIIMCTHYECKHE OCOOEHHOCTH) C MTO3ULUHN Tpe-
0oBaHMI K 3HAaHUSIM 1-TO YpOBHS; 2) UMTaTh, IEPEBOIUTH, IOHUMATh Ha
CIIyX TEKCTHI 10 mpodmito oOydeHus; 3) BecTu obmeHHe mnpodeccuo-
HAJIFHOTO U COLMOKYJBTYPHOTO XapakTepa Ha aHIVIMHCKOM SI3BIKE MO
NpeUI0KeHHOH MoJe/IH, coueTasl AUAJIOTHYECKUE M MOHOJIOTHYECKHUE
¢dopmbl peun; 4) MOHUMATh HHOSA3ZBIYHYIO peus B 00beMe NPOrpaMMHOI
TeMAaTHKH; 5) UCIOJIb30BaTh aHTTIMICKUH SI3BIK B KAUECTBE HHCTPYMEHTA
podecCHOHANBHON NIESTEIbHOCTH: NIEPEBO HAa PYCCKUH s3bIK, pedepu-
poBaHue MPoQecCHOHATEHO OPHEHTHPOBAHHBIX TEKCTOB.

MakcumanbHasi OleHKa 3HaHui Ha 1 ypoBHe (PEnpoayKTHBHOM)
— 6 0as10B.

2 ypoBenb (B): 1) anHanu3upoBaTh MHOSI3BIUHBIN TEKCT (€ro CTPYK-
TypHBIE, IEKCHYECKHE U CTUINCTHYECKHE OCOOCHHOCTH) C MO3ULIUN Tpe-
0OBaHMI K 3HAHUSIM 2-TO YPOBHS; 2) UNTaTh, IEPEBOIUTH, IIOHUMATh Ha
CIIlyX TEKCTHl Mo mpoduiro odydeHus; 3) Bectu oOmeHue mpodeccro-
HAJIFHOTO W COLMOKYJIBTYPHOTO XapakTepa Ha aHTJIMHCKOM SI3BIKE B
Pa3JMYHBIX CTAHAAPTHBIX CUTYALUSAX, MOJB3YsICh MPaBUIAMHU PEUEBO-
r'0 3TUKETa, CoueTasi UaJOrHyeckue 1 MOHOJIOTHYECKIE (hOpMBI peun; 4)
MOHUMATh WHOSI3BIYHYIO peub B 00beMe MPOrPaMMHON TeMATHKH; 5)
HCTIONB30BaTh aHTIUMCKUN S3bIK B KayecTBE MHCTPYMEHTa MpodeccHo-
HAJIBHOW NeSTEIbHOCTU: TEPEeBOJ Ha PYCCKHH S3BIK, pedepupoBaHue,
AHHOTALlUH, COCTaBJICHHE TE3UCOB, HPO(ECCHOHATBLHO OPHEHTHPOBAH-
HBIX TEKCTOB.

MaxkcuManbHasi OLleHKA 3HAHUH Ha 2 YpoBHe (TIPOIYKTHBHOM) —
8 b6as10B.

3 ypoBensb (C): 1) aHanM3UPOBATh MHOSABIUHBIA TEKCT (E€r0 CTPYK-
TypHBIE, IEKCUYECKHE U CTHIMCTHYECKHE OCOOCHHOCTH) C TIO3ULIUN Tpe-
OoBaHUI K 3HAHUAM 3-TO YPOBHS; 2) YUTaTh, IEPEBOIUTH, TOHUMATh Ha
CIIyX TEKCThI MO Mpoduito o0ydeHus; 3) BecTH oOmeHue npodeccuo-
HaJIbHOTO W COIIMOKYJIbTYPHOTO XapakTepa Ha aHTJIMHCKOM S3bIKE B
Pa3JMYHbIX HECTAHIAPTHBIX CUTYALMSX, TIOJB3YSICh MPaBUIAMH pede-
BOTO 3THKETa COYeTasl NUATOrHYecKUe U MOHOJOTHYeCKUe (HOpMBI peyu;
4) moHMMAaTh WHOS3BIYHYIO p€Yb CBEPX MPOrPAMMHON TeMAaTHKH; 5)
WCIIOJIb30BAaTh aHTIMUCKUHN S3bIK B KayecTBE MHCTpPyMEHTa Tpodeccro-
HAJILHON JESITETThHOCTH: TIePEeBOJI HAa PYCCKHH 53bIK, pedeprupoBaHHe,
COCTaBJICHHE TE3WCOB, aHHOTAIMi, pe3foMe ayTeHTHYHBIX INpodeccro-
HaJIbHO OPHEHTUPOBAHHBIX U HAYYHBIX TEKCTOB.

MakcumanbHasi OleHKAa 3HAHUH Ha 3 ypoBHe (TBOPUYECKOM) —
10 6amnoB.



1 HAYYHO-TEOPETUYECKOE COAEPKAHUE TEMbI

Nupunutus, GpopMbl HHPUHUTHBA B 1eIICTBUTEILHOM H CTPaaa-
TeJILHOM 3aJ10re, (PYHKUMH MHPUHUTHBA B NPEJI0KEHUHU.

1) Hngunumue — 310 HeompeneleHHas (opMa Tiaroiia, OTBeYarouIas
Ha BOIPOC YTO Aeiars? uto caenars? dopmalbHBIM NpU3HAKOM HHU-
HUTHBA SBISIETCS YacTHUIla f0, KOTOpas MOKET OTCYTCTBOBATh IOCJE He-

KOTOPBIX I'J1IarojoB.

1! 3anomHuTe: HHPUHUTUB yNOTPedasieTCsl 6e3 Yacmuypl to Mocie

rj1aroJjioB, BbIpakarumux:

HoBas Texmmka, Kaker-
Cs, WCIOJBh30BAJIaCh B
3TOM IOty

Perfect to have been using
Continuous He seems to have been us-
ing the new machinery for

2 years.

Kaxercs, OH HCIIOIB30Bal
HOBYIO TEXHUKY B TEUCHHE
JIBYX JICT.

1. Yyscmsa u smoyuu, pusuye-
cKoe gocnpusimue, owyuenue:

to see, to hear, to feel, to watch,
to notice, to observe

We see the student do this work.
MI)I BUIUM, 4YTO CTyI[eHT BBIIIOJI-
HSIET 3Ty paboTy.

DOyHKUNU MHGUHUTUBA B NIPeIJI0OKEHUH

2. Ilpukas, paspewenue, nobyic-
OeHue:

to make, to let, to cause, to have
(pacnopsiiuThCs)

He made the mechanic repair the
car.

OH 3acTaBWJI MEXaHHKA TIOYNHUTD
MalluHY.

DyHKIUS [IepeBoa
1. Homnexarniee Hcnonvzoeams HOBYIO TEXHUKY (HCIIONB30-
(subject) BaHUE HOBOW TEXHUKH) HEOOXOAUMO.

To use the new ma-
chinery is necessary.

®opMbl HHPUMHUTHBA

2. YacTb cOCTaBHOTO
CKa3zyeMoro
(predicative)

His aim is to enter the
Belarusian State Agrarian
Technical University.

Ero uens — nocmynums B benopycckuii
rOCYJapCTBEHHBIN arpapHbI TEXHUYECKUM
YHHUBEPCHUTET.

machinery.

BYIO TCXHUKY.

I'pynna JleficTBUTENBHBIIN 32107 CrpanaTenbHBbIi 3a10T
BpEeMEH

Simple to use to be used

(Indefinite) He wants fo use the new | The machinery to  be

used 1s new.

OHn xouer UCroIb30BaTh HO- | TexHuka, koTopas Oymer

HCIIOJIb30BATHCs, HOBAs.

3. JlonoHEeHUE

(object)

He is ready to read the
text.

OxH rotoB uumamv_TCKCT.

Continuous to be using

The new machinery

seems fo be using now.
Kaxercs, aro HOBas TEX-
HHKa UCIIOJIb3YeTCs ceiyac.

4. Onpenenenue
(attribute)

The film fo be discussed
is very interesting.

®ubM, KOTOPBIH Oydem o0bcyacoamvcs,
OYCHb HHTEPECHBIH.

Perfect to have used

to have been used

He seems to have used the | The new machinery
new machinery this year. seems to have been
Kaxercs, on wucmoms3oBain | used this year.

HOBYIO TEXHHKY B 9TOM I'OJTy.

5. OO6cTOATENBCTBO
(adverbial)

He came here fo study
driving a car.

On nmpuexai croaa, YTOOBI Hay4umosucs BO-
JAUTb MAallIuHYy.




NudunutuBHbie 00opoTbi: Complex Object, Complex Subject

Obvexmuolii.  npeduxamuenvlti  un@urumuenvitl.  obopom (Complex

Object)
CyecTBu-
TenpHOE (MITH
] Nudu-
-1 Tlomrexaree Ckazyemoe MECTOUMEHHE |
HUTHB
B 00BEKTHOM
Majexe)
He wants the mechanic (him) to repair the car.
On xouem, umooObl MexaHukK (OH) NOYUHUTL MAUUHY.

OO0bexTHBIH NMpeIuKATHBHbINE WHQUHUTHUBHBIN 000pOT ynmoTped.isi-

€TCA I0CJI€ IJ1aroJioB, BbIpaKarmux:

1. JKenanue, nompebrHocmy:

to want, to wish, to desire, to like,
to intend, would like, need, to dis-
like, to hate

We want him to repair the car.
MBI XOTHM, YTOOBI OH TIOYHHMII
MAIIUHY.

2. Ymcemeennyio oesmenbHocmy:

to expect, to prove, to know, to
think, to find, to understand, to con-
sider, to believe, to suppose

We think the new machinery to
be used on the farm.

Mpl cuuTaeMm, 4YTO HOBasl TEX-
HHUKa OyJIleT HCIOJIb30BaThCS Ha

hepme.

3. Yyecmea u smoyuu, guszuuecrkoe
socnpusimue, owyujenue:

to see, to hear, to feel, to watch, to
notice, to observe

We see the new machinery be
used on the farm.

Mur BUIUM, YTO HOBasA TCXHHKA
UCHOJIb3yeTcs Ha epme.

4. Ilpuxas, pazpewenue, nobyicoe-
Hue:

to make, to let, to permit, to ask, to
tell, to order, to command, to cause,
to force, to have (pacmopsauThesi)

He made the mechanic repair
the car.

Oun 3acTaBujl MeXaHHKa IIOYH-
HUTDH MaH_II/IHy.

! UHPUHUTHB B 00beKTHOM HMH(MHUTHBHOM 000pOTE YACTO MC-
NMoJIb3yeTcsl B CTPaJaTeIbHOM 3aJi0Te, B 0COOEHHOCTH € IJ1arojamu,
BBIPAKAIOIIMMH NPHKA3, pa3pelieHne, NodyxaeHmne:

Ha pycckuii A3blK npeonoyicenus co cmpadameibHblmM 3a/1020M MO2Ym
nepesooumvCa ¢ UCROIb308AHUEM OCHCMEUMEbHO20 3a41024, KOMO-
Dblil cmagumcs nepeo cyuiecneumenbHbiM.

He wants the new machinery zo be used.
On xouem UCnoO16308ams HOBYIO MEXHUKY.

Cy0beKTHBINH NMpeIuKaTUBHbIA MHPUHUTHBHBIH 00opoT (Complex
Subject)

Tonnexaiee Ckazyemoe NuaduanTHB
(cyiecTBUTENBHOE
WJIA MECTOUMEHHE)

The new machinery (it) is known to be of good quality.

H36€CWZHO, umo Hoeas mexHuxka (OHCZ) xXopouteco kavecmeda.

CyO0beKTHBIN NpeIuKaTHBHBLIA MHGUHUTHBHBIA 000pOT YymHoTped-
JisieTcsl MmocJjie IJ1aroJioB M BbIpaKeHHii:

Bripaxxenus I'maronsl B geiict- | I'marosnn
BHTEILHOM 3QJI0T€ | B CTPAIATEILHOM 3aJI0T¢

to be likely- to seem- Ka3aTbCs to say- rOBOpUTH
BEPOATHO to appear- oKa3bl- to know- 3HaTh
to be unlikely- BaThCs to think-gymaTts
MaJIOBEPOSTHO to happen- ciy- to report-cyurare
to be sure- 001- JaThCs to suppose-peamnoaraTh
3aTEJIbHO to prove- OKasbl- to expect-0Xuaarb
to be certain- or- | BaTbcs to consider- cunrath
peIeIeHHO to believe - BepuTh, mMoJa-

raTh

to state-yTBepKIaTh

to see- BUIETH
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! UnpuHNTHB B CY0ObEeKTHOM NPEAUKATUBHOM HH(PUHUTHBHOM
o0opoTe MOxKeT YNOTpedJIAThCS BO BCeX Ipynmnax BpeMeH u ¢opmax
32J10T0B M 0003HAYATh:

1) neiictBue, Mpoucxo- He is said to use the new machinery.
Jisilee OJTHOBPEMEHHO ¢ | ['OBOPAT, UTO OH UCnO/Ib3yem HOBYIO TEX-
TJIaBHBIM HUKY.

2) neticteue B miporiecce | The house seems to be building now.

€ro COBEpIICHHUS Kaxercsi, 9to oM cmpoumces cetiuac.

3) nevictBue, npeniiect- | He seems to have done the report this
BYIOLIIEE JACHCTBUIO, BbI- year.

paskeHHOMY cka3yeMbIM | KaxeTcs, 4To OH denan OTUET 6 51oM 200).

! NupuHUTHB B CYOBEKTHOM NpPeANKATHBHOM HH(PHUHUTHBHOM
000poTe He MOKeT 0003HAYATH JAelicTBHEe B OyaylieM, KpoMe cJje-
AYIOLIUX IJ1arojoB:

To expect, to be sure, to be certain, to be likely.

He is expected to use the new machinery.
Ooicudaiom, 4umo on 6y0em Ucnob308amb HOBYIO MEXHUKY.

!!! IIpu nepeBoae nmpenoKeHHH, coaepKAMUX UHPUHUTUB B CYyOb-
€KTHOM NpeIMKATHBHOM HH(PMHUTHBHOM 000pOTe, BCerga HaYH-
HaliTe MepeBOINTH MpPEATOKEeHHe CO CKa3yeMoro:

He is said to use the new machinery.
Tosopam, umo oH ucnoab3yem HOBYIO MEXHUK).

IlpuuyactHbie 060poThl: Objective with the Participle, Subjective
with the Participle, the Absolute Participial Construction.

O0beKTHBI NPUYACTHBIH 000POT ¢ NMPUYACTHEM HACTOSIIIEr0 H
npoueauero Bpemenu The Objective Participial Construction.

JaHHas KOHCTpYKIus moxoxka Ha KoHcTpyknuto Complex Object ¢ napu-

HHUTHBOM, HO 3JIcCh BMECTO WH()WUHUTHBA YIIOTPEONISCTCS] MPUYACTHE Ha-
CTOSIIIETO JINOO TIporeero BpeMenu (Participle I iubo Participle 11)

11

ITomnexamiee

I
new machinery.

A
8Y10 MEXHUKY.

Ckazyemoe

—| CyuiecTBu-
TENBHOE WU

saw

suoei,

MECTOUMEHNE
B 00BEKTHOM
najuexe

IIprgactue

the farmer (him)

Kax epmep (on)

using the

UCnojib306aj HO-

OO0beKTHBIH NPUYACTHBIN 000pOT ynoTpedjaseTcs mocJje rjiarojos,

BbIPaKaromiux:

I'maronel, mocie
KOTOPBIX YIIOT-
pedsiercst Tipu-
YacTHBIA  000-

®dopma
MpUYaCTHUA

IIpumepst

Ocobennoctn

TEJIHHOCTH:
to consider, to
understand

S cumraro, ymo >TH
YaCTH  OMpPeMOHMU-
POBaHwL.

poT
1.I'maroser Participle 1, | I saw the farmer us- | Participle |
gyBcTBeHHOTO | Participle Il | ing the new machin- | moka3siBaer,
BOCTIPHUSATHS: ery. YTO JIEeWCTBUE
to hear, to see, S Bumen, kax pepMep | macCUBHO,
to feel, to ucnoavzosan HOByIo0 | Participle II
watch, to ob- TEXHUKY. ITOKa3bIBaCT
serve, to notice, I saw the new ma- | nelcTBUE B
to find chinery used on the | mpomecce

farm.

S Bupmen, xax HOBas

TEXHUKA UCHONb3084-

Jace Ha pepmMe.
2.I'maronsr yMm- | Participle Il | I consider these parts | 3naducHme
CTBEHHOH mes- repaired. TTaCCUBHO

12



IMomnexamee  (CyriecTBH- [IpuyacTie HacTOSIIEro WK
TEJIBHOE WII MECTOMMEHHE) npoieamero Bpemenu (Partici-
ple I, Participle II).

3. I'maromer xe- | Participle I | I want the computers | 3HaueHue
JlaHus: to want, supplied. MACCHBHO
to wish, to de- 51 xo4y, 4TOOBI KOM-
sire MBIOTEPBI HOCTHABUTU.
4. I'marosr : Participle Il | We have the work | Ota KoHCT-
to have, to get done. PYKIIHS
Ham  coenanu oty | ymotpebis-
pabory. eTCs, KoTaa
MBI XOTHM
CKa3aTh, 4TO
KTO-TO JIpY-
roi YTO-TO
nenaet (cre-
JIa1) JUIsl Hac

My friend (he) works on the farm, his father working here too.
Moti apyr (oH) paboTtaer Ha hepmMe, U ero oTel] TOKe paboTaeT TaMm.

He3aBucuMmeplii MpUYacTHBI 00OpPOT OTHENAETCS OT OCTAJbHOW YacTh
MpeIOKEeHUS 3ansITOH. OH MOXXET MEePEBOAUTHCA:

1) 1160 MPUIATOYHBIM MPEITOKEHUEM C COI03aMU MAK KAK, NOCKOJIbKY,
K020a, nocjie mo2o Kax, eciy (€Ciiv OH CTOWT B HavdaJle PEUI0KEHN),

2) mu00 CaMOCTOATETHLHBIM MPEITIOKEHUEM C COI03aMH @, Npuyem, npu
9mom (€CIIi OH CTOUT B KOHIIE TIPETIOKEHUS).

CyObeKTHBIH MPUYACTHBIH 000POT ¢ MPUYACTHEM HACTOSIIEr0 Bpe-
meHu (The Subjective Participial Construction).

JlaHHas KOHCTPYKITHSI COCTOUT H3:

[puyactre HacTos-
[Moanexaree (cy-
Ckazyemoe IIEr0 BPEMEHU
IIECTBUTEIBHOE HITU .
(Participle I).
MECTOMMCHHUE)
The mechanic (he) was seen repairing the car.
buino suono, KaK MexaHuk(om) YUHUM MAUUUHY.

CyOBeKTHBIM PUYACTHBIA 000POT YIOTPEOIACTCS ¢ 21a20naMu Yyecm-
BEHHO20 BOCHPUSIMUSL 8 CIPAOAMETLHOM 3A102€.

He3aBucumplii mpudactHblii 060poT (The Nominative Absolute Par-
ticipial Construction)

JlaHHBIN IpHYAcCTHBI 000POT MMEET c80e COOCmBeHHOe nooaedxcaujee,

OTJIIMYHOEC OT ITOJICKAIIETO BCETO MMPEAIIOKCHUA.
KOHCprKHI/IH COCTOHUT HU3:
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C mnpuuactueM Hacrosd- | Many crops are grown by this farm,
IIETO BPEMEHHU wheat being the most important.

Participle I MHorue KyJIbTyphl BBIPALIUBAIOTCS Ha
9TOH (epMme, npuyem TILSHULA SBISICTCS
Haubosee BaXKHOM.

C mpuuactuem mpomen- | The car repaired, the mechanic went
IIeT0 BPeMEHHU home.

Participle 11 Ilocrne mozo, xak MamyHa ObIIa TIOYMHE-
Ha, MEXaHHK YIIEN JIOMOH.

I'epynauanbHblii 060poT
Caoxublii repyHauabublii 00opot ( The Gerundial Complex)

JlaHHBI 00OPOT COCTOWT U3 UMEHHOU YACHU, BEIPAKEHHOW CYIIECT-
BUTENBHBIM (WM HEONpPEJeIEHHBIM MECTOMMEHHEM B MPUTSKATEITHHOM
MajIeKe, WU TPUTSHKATETHHBIM MECTOMMEHHEM) M 21a20AbHOU Yacmu,
BBIPQXXEHHOW FePYHIUEM.

Kommutekcs! ¢ repyHAuambsHBIM 000POTOM MOTYT OBITh TEMH XKe Hire-
HaMHU MPEJIOKEHHS, YTO ¥ TepyHINH.

[Ipemnoxenns ¢ repyHARAIHLHBIM 00OPOTOM TOPOXKIAOTCS W3 IPO-
CTBIX TIPEIJIOKEHHA, OJJHO U3 KOTOPBIX CTAHOBUTCS KakK Obl MaTPHYHBIM
MPEIOKEHNEM, a BTOPOE CBOPAYMBACTCS B T€PYHIHAIBHBIA 000pOT W
BCTaBJISIETCS B MATPUYHOE TIPETIOKEHHE.

14



You are working on the farm. It helps you to get more practice.
Your working on the farm helps you to get more practice.

To, umo mwvl pabomaewv Ha pepme, nomocaem mebe npuobpecmu
bobULe NPAKMUKU.

4. CroxHoe
omnpeecHue

4. a) plan (idea,
point, sense, pur-
pose, good, harm,
mistake, diffi-
culty, opportunity
of smb’s doing
smth.

b) there is (smb
sees no (little)
harm (good, sense,
point, difficulty) in
smb doing smth.

a) Everyone liked the idea of
his working on the farm.

Bcem monpaBuniach ujes, 4To
oH Oynet paboTath Ha (epme.

b) There is no sense in your
working on this farm.

TebGe HeT cmpicia paboTaTh Ha
3TOM depme.

5. Cnoxuoe
00CTOSATENLCTBO

5. on (after, be-
fore, by, through,
because of, with-
out) smb’s doing
smth.

I worked on the farm before my
getting this job.

Sl mpopabotamr Ha depme 0
TOTO, KaK IMOJIy4rII 3Ty paboTy.

@yHKIMA B | Mogenu IIpumepsl
TPE/UI0KSHUN
1. CroxxHoe 1. a) It is (was) | 1.a) It is useless his working so
TToJIeIKaIee no use (useless, | late. Emy Oecmone3sno Tak
no good) smb’s | mo3aHO pabOTATH.
doing smth.

B) smb’s doing | b) Your working on the farm
smth, will do helps you to get more practice.
smth, would do To, uto TBI paboTaemb Ha dep-
smth). Me, TIOMOTaeT Tebe mprodpecTH

OOJIBITIEC TPAKTHKH.
2. Yactsb co- 2. to be for 2. I am against your working on
CTaBHOTO CKa- | (against) smb’s the farm.
3yeMOT0 doing smth. Sl mpoTuB TOTO, YTOOBI THI pa-
6oran Ha pepme.
3. CioxxHOE 3. a) (can) avoid a) I can not help his repairing
JIOIIOJIHEHHE (afford, stand, the car.
(mpsimoe u help.,prevent) Sl HEe Mory MOMOYb eMy TIOYH-
KOCBEHHOE C smb’s doing smth | HUTH MamIUHY.
MIPEAITOTOM)
b) to mind (like, | b) Do you like his working on
love, hate) smb’s | the farm?
doing smth Bam mpaBuTCs, kak oH paboTa-
eT Ha (epme?
c¢) to be afraid of | ¢) I insisted on Ais working on
(to object to, to | the farm.
msist on, to de- | Sl HacTOsI Ha TOM, YTOOBI OH
pend on, to be | ‘paboran Ha hepme.
grateful for... )
smb’s doing smth.
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3aganus njs CAMOKOHTPOJIsA

1) Kakue Henmuunble (opMbI THarona Bel 3HaeTe? s oOpazoBaHUS Ka-
KHX BPEMEHHBIX TPYIII OHH YK€ YIOTPeOISITUCH?

2) [atite onrcanne MHOUHATHBA KaK OJJHOM M3 HETMYHBIX ()OPM TJIaroa.
3) HazoBure ¢popmbl HHOUHUTUBA JEHCTBUTEIBHOTO 3aJ10Ta BCEX TPYIIT
BpeMeH, 00pa30BaHHBIE OT CJICAYIOUIUX IJIarojioB PyCCKOro sI3bIKa: nad-
Xamo, Y00Opsams, Ouckosams, OOPOHOBAMb, YOupams ypoicat, Viyu-
wams, cesms, cadxcamy. [lpu HE0OX0gMMOCTH, oOpamaiiTech kK Tadnuie
¢$hopM HHOUHUTHBA U AKTHUBHOMY CJIOBapIO MOIYJIA.

4) HazoBure GpopMbl HHOUHUTHBA CTPAAATEIBFHOIO 3aJI0Ta BCEX TPYIIIT
BpeMeH, 00pa3oBaHHBIC OT CIEAYIOLIMX IJIarojoB PYCCKOTO s3bIKA: na-
Xamo, y0obpsms, OUCKO8amb, OOpPOHOBAMb, YOUpamv ypocail, Yiyy-
wams, cesms, cadxcamy. Ilpu HeoOXogMMOCTH, oOpamaiiTeck K Tadnuie
(hop™m nHpUHHUTHBA.

5) Kakue ¢pyHKUMM MHOUHUTUB BBHIIOIHACT B JAHHBIX NTPEUIOKEHHSX
a) To prepare the soil is very important.

b) He began to harvest.

c) He went to London to take part in the exhibition of farm machinery.

d) He was the first to plant potatoes.

e) We are ready to seed crops.

6) Kakune wHpUHUTHBHBIE 000POTHI BBl 3HaeTe? UeM OHU TMOXOXH U
YeM OTJIMYaI0TCs?

7) Ormpenenure, K Kakoi rpynmne HHOUHUTUBHBIX 000POTOB OTHOCATCS
CJICAYIOIINE MPEIJIOKEHHS, 1 OOBSICHUTE MTOYEMY .

a) We know granular fertilizers are used to improve the physical condi-
tions of the soil.

b) Granular fertilizers are known to improve the physical conditions of
the soil.

8) Kakue Buapl npu4acTHEIX 000POTOB BhI 3HaeTe? B ueM OHU CXOXkKH C
MHQUHUTHBHBEIMU obopotamu? UYem orimuarorcsa? Omnpenenure, conep-
KaT JIM JaHHBIE MPEIJIOKEeHUs TpuyacTHele 000poThl. Kakue BUIBI pu-
4acTHBIX 000POTOB OHU cozepKat?

a) Isaw him demonstrating a new device.

b) He was seen demonstrating a new device.

¢) We saw him demonstrate a new device.

d) A new device demonstrated, he started to speak about other machinery.
9) U3 vero cocTouT repyHAMANbHBIN 000poT? YeM OH OTIMYAeTCs OT
npu4acTHbIX 000poToB? IlpounTaiitTe AaHHOE NpEATIOKEHHUE, COIepKa-
11ee repyHIuaIbHbIi 000pOT U [IEPEBEANTE €ro Ha PyCCKUH SI3BIK.

We liked the idea of his speaking about some new machinery.

17

2 MATEPHAJIBI K IPAKTUYECKUM 3AHATUAM

Texker A «kFARM MACHINERY»

ACTIVE VOCABULARY

Verbs

apply fertilizers

BHOCHUTb yJI0OOpEHUsI B IOYBY

break (broke, broken) up the lay-
ers of soil

pa3dmBaTh Ha MEJKHE KyCKH Ta-
XOTHBIM TOPU30HT

break down the soil

PBIXJINTH TIOYBY

compact

yTpaMOOBBIBATh

crush the clods

JIPOOUTH TIBIOBI, KOMbSI 36MITH

cover seeds

3aKpbIBATh CCMCHA B IIOYBC

consolidate the soil

TpaMOOBaTh, YIUIOTHSATh IOYBY

destroy (syn. eliminate) weeds

YAAIATH COPHAKHU

disk

JHUCKOBATh I10YB

fertilize the soil

yaoOpsTh IOUBY

fallow

BCIIaXWBaTh 1104 Iap

harrow

OOpOHOBATH MTOYBY

hoe out the weeds

IIPONAJIBIBATh MEKAYPAbs

level the ground

BBIPABHUBATH IIOYBY

mulch MYJIBYHPOBATH

plant caxath

prevent weeds NPEAOTBPAILATh COPHSIKH
prepare seedbed TOTOBUTH CEMEHHOE JIOKE
penetrate MIPOHHUKATH

pull TSHYTH, TAIIATh

stir the soil

PBIXJIMTH ITOYBY

sow (saw, sown)
seeds ( syn. place)

CCATh CEMECHA

transmit nepeaaBaThb
Nouns
barnyard manure HaBO3

beet cultivator

CBEKJIOBHYHBIMI KYJIBTUBATOP

bean cultivator

KYJIBTHBATOP 17151 0000BBIX KYJIBTYP

broad- cast planter

CeslJIKa JUIsl MPOMAIIHBIX KYJIbTYP
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baler

npecc-moa00PIINK, CCHHOMN Mpecc

beet harvester

MaIlnHa 7151 YOOPKH CBEKJIIBI

cultivation machinery (syn. culti-
vator)

KYJIbTHBATOPHI

chisel cultivator

YHN3€CJIb-KYJIbTUBATOP

combine harvester

3epHOYOOPOYHBII KOMOaH

components JeTalb

disc plow JIUCKOBBIN TLTYT
disk harrow JMCKOBasi 00poHa
digger KOTaTelb

disc coulter

JUCKOBBII HOX

farm machinery

CEJILCKOXO3IMCTBEHHAS TEXHUKA

fertilizing equipment

MaIluHBl JUIsl BHECCHHS ya00pe-
HUH

field cultivator

KyJBTUBATOp 1T 0OpabOTKH Ta-
pOB

fertilizer distributor

TYKOBas CCsAJIKa

frame pama

granular fertilizer rpaHyJIUpOBaHHOE yI00peHne
grain drill 3epHOBas cesyIKa

harvesting equipment yOOpOYHbIE MAIIHHEI

harrow Oopona

heavy machinery TsKeas TEXHUKA

headstock MPUCOCANHUTENbHAS CTOWKa Ha-

BECHOT'O OPYIHs

lister cultivator

KyJIbTUBATOp I OOPO3M0BEIX
IIOCEBOB

planting equipment

ITIOCCBHBIC MAIlIMHBI

potato harvester

KapToderaeyOopoTHbIii KoMOaitH

rotary hoe POTAIMOHHAS! MOTHITA

rod weeder IITAHTOBBII KYJIBTHBATOD

roller KaTOK, BaJIell, BAJIMK, POJIUK
row-crop planter HIMPOKOPSIIHAS CesTKa

rake rpadiu

semi mounted plow MOJTYHABECHOM ILTYT

sub- soiler MOYBOYTIYOUTENb, TIyOOKOPBIX-

nutenb (0e3 00opoTa miacTa)

spike tooth harrow

3yOoBas OopoHa

spring tooth harrow

pyKHHHAas 60poHa

secondary tillage equipment

no4yBooOpadaTeIBaoNIfe  OPYAHs
JUISL TTOCTISAYIONICH 00paboTKH

sprayer OIPBICKUBATEIIb

share JIeMeX, COIIHUK

skim coulter MPEAILTYKHHUK, TEPHOCHUM
tillage 00paboTKa IMoYBhI

tools for mulching and fallowing

OpyIoust Uil MYJNbYMPOBAaHUS U
BCHAaXMBaHUs IO map

thinner

MIPOPECIKUBATCIIb

track- laying tractor (syn. crawler

T'YCCHUYHBIH TPAKTOP

wheeled tractor

KOJICCHBIN TPAKTOP

TEKCT A: «<FARM MACHINERY»

moldboard

OTBaJl

manure spreader

HaB030pa30packiBaTEIh

moldboard plow

OTBaJIbHBIN TJTYT

motion JBIDKCHHE
mounted plow HaBECHOW IIYT
mower KOCHJIKA

planting attachments

YCTaHOBKH, KPEIUICHUA JId IOCE-
Ba

power operate device

aBTOMAaTHYECKOE YCTPOHCTBO

primary tillage equipment

0YBOOOpabaThBaOUIe OPYAUS
JUIs TICPBUYHOM 00pabOTKH
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Answer the following questions:

What specialized subjects connected with your future profession do
you study at the university? Are they necessary for your future work?
What must be said about the importance of farm machinery on a modern
farm? A great variety of farm machinery is used on the farm, isn’t?

Read the text and say why agriculture needs many kinds of farm
machinery.

1. We know the farmer to have a wide range of machinery to plow and

disk, and harrow, and plant, and fertilize, and finally harvest faster, easier
and more profitably today. The machine is known to be a device that
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uses force to accomplish something transmitting and changing force or
motion into work.

2. Agricultural implements and machines being very numerous and
diversified now may be divided into 4 main groups: tillage equipment,
planting equipment, fertilizing equipment, harvesting equipment.

3. The aim of tillage is to prepare the soil for planting and to keep it
loose and free from weeds during the growth of crops. The primary till-
age equipment used by the farmer includes ploughs, sub-soilers, and
thinners. The secondary tillage equipment embraces harrows, rollers
and tools for mulching and fallowing. Plow is designed to eliminate
weeds, to prepare a suitable seedbed, to improve the physical condition
of the soil. Ploughs fall into mounted, semi mounted, disc, moldboard
plows. The main components of ploughs are the main frame, the share,
the moldboard, the disc coulter, the skim coulter, the headstock. The
function of sub-soiler is to penetrate into the deeper depths and break up
the layers of soil which have become compacted due to the movement of
heavy machinery. A harrow is an implement used to level the ground and
crush the clods, to stir the soil, and to prevent and destroy weeds. There
are three principal kinds of harrow namely the disk, the spike-tooth, and
the spring tooth.

4. Cultivation machinery is used to break down the soil before or after
a crop is sown for covering seeds, for consolidating the soil and for hoe-
ing out weeds. There are several types of cultivators designed for special
crops and conditions: beet and bean cultivators, lister cultivators, rotary
hoe cultivators, rod weeders, field cultivators, sub-soil and chisel cultiva-
tors.

5. Planting equipment is any power-operated device introduced to
place seeds or plant parts in or on the soil for production of food and feed
crops. It is classified as row-crop planters, broad-cast planters, grain
drills and planting attachments for other equipment.

6. Applying such types of fertilizers as barnyard manure, granular fer-
tilizers, and fertilizers in liquid and gaseous form is necessary where
soils are deficient in plant food elements. Such fertilizing equipment as
manure spreaders, fertilizer distributors, sprayers are in use.

7. Crops are harvested by the use of many kinds of harvesting
equipment for all types of crops. The principal machines required to
make hay are mowers, rakes, balers. Grain and all types of seed crops are
harvested by combine harvesters. Beet harvesters are available to harvest
beet, potato harvesters and diggers being for potatoes.

8. The tractor is the most important: machine pulling many kinds of
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implements that cultivate plant, fertilize, and harvest. Wheeled tractors
being used for general farm work, track-laying tractors or crawlers have
the great advantage that they can be available for heavy loads on any
class of land.

Text-Based-Assignments

Language Study

MeTtoanyeckue peKoMeHIauMN

1 ycnemHoro BBIIOJHEHUS YNPAKHEHUN JAHHOIO pasjiesia BaM
HEOOXOAMMO 3HATH JIEKCHYECKHI MHHUMYM II0 TeME, YMETh NePEBOINTH
peveBble TeMaTH4YeCKHe MOJIEIHN U MCIOJIB30BaTh UX B pedH. JTO TOHA-
MOOWUTCS BaM TakKe JUTsl TIIyOOKOTO TTOHMMAHHS TEKCTa A U TOCIIETyIo-
1ero 00CyKISHHS €r0 Ha aHTJIMHCKOM A3BIKE.

TpeHupoBoUHBIE 3aJaHUS PACTIPENEICHBI 110 TPEM YPOBHSIM CIOXHO-
cti (A, B, C), 9TO MOMOXKET MPOBEPUTH U OIICHUTH INIyOMHY U KauyecTBO
ycBoeHus1 Marepuana. OHM OTpa)kalOT COBPEMEHHBIN MOAXO0J K OLIEHKE
3HAHWM, YMEHMIM M HaBBIKOB II0 MHOCTPAHHOMY SI3bIKY. MakcUMaJIbHAsI
OIICHKA 3HAHWU Ha TEPBOM ypoBHE (A) -6 6annog, Ha BTOpoM (B) — 8
bannos, Ha TpetheM (C) — 10 bannos.

(A) Exercise 1. Guess the meaning of the following international
words.

Method, farmer, disk, machine, physical, component, cultivation, cultiva-
tor, sprayer, tractor, primitive, to compact, to crush, to prevent, principal,
production, to classify, granular, deficient, element, class.

(A) Exercise 2. The following groups of words are all related in
meaning because they have the same roots. Notice the different suf-
fixes indicating different parts of speech. Translate them into Rus-
sian.

To till, tillage, tillable, tiller;

To use, using, user, used,;

To plow, plowing, plow;

To harrow, harrow, harrowing;

To plant, planting, plant, planter;

To cultivate, cultivator, cultivating, cultivation;

To fertilize, fertilizer, fertilizing, fertile, fertility.
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(A) Exercise 3. Using a dictionary complete the table.

Verbs Adjectives Nouns
To eliminate
tilling
harvested
To seed
distributor
(A) Exercise 4. Match the words.
to change seeds
disc elements
to destroy plow
to level tractor
to stir weeds
to place equipment
plant food the soil
fertilizing force
wheeled the ground

(A) Exercise 5. What are these words derived from? Notice the dif-
ferent suffixes, indicating different parts of speech.

Profitably, transmitting, agricultural, diversified, planting, mounted,
movement, cultivation, covering, equipment, operated, production,
planter, attachment, applying, fertilizing, sprayer, harvester, pulling,
wheeled, compacted, distributor.

(A) Exercise 6. Find in each group the most common word or word-
combination among the following.

a) plow, harrow, agricultural implement, roller, tool, thinner, sub-
soiler:

b) wheeled tractor, crawler, machinery, combine harvester;

c) toplow, to disk, to accomplish agricultural work, to harrow, to
plant, to fertilize, to harvest.

(A) Exercise 7. Give all derivatives from the following verbs.

To prepare, to prevent, to penetrate, to cover, to apply, to harvest, to
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plow, to cultivate, to plant, to sow, to dig, to fertilize, to eliminate, to
improve.

(A) Exercise 8. What are the English equivalents for the following
Russian ones.

1) JIBwkenue: move, movement, mower, moveless, movable;

2) HasecHoii: mount, mounted, mounting, mountain, mountaineer;

3) Bemayxnenno: forcible, forceless, forceful, force, forcing, forced,
forcedly;

4) YcrpemsieHHBIN: aim, aimed, aimless.

(A) Exercise 9. Find in the text the synonyms for these words.

Culture (2), land (2), tool (1), machine (1), equipment (2), nutricients (1),
track-laying tractor (1), digger (1).

(A) Exercise 10. Find in the text the antonyms for these words.

To deteriorate, to compact, to harvest, special farm work, disadvantage,
food crops, crops, sufficient, consumption.

(A) Exercise 11. Add the correct suffix to form a new word.

Farm, machine, plant, fertilize, profitable, grow, cultivate, mount, weed,
spread, distribute, harvest, wheel.

Exercise 12. (A) Find in the text:

a) the nouns formed from these verbs:
to cultivate, to till, to plant, to grow, to equip, to move, to seed, to plant,
to produce, to harvest, to dig, to fertilize;

B) the verbs these nouns are formed from:

accomplishment, division, preparation, improvement, penetration, pre-
vention, placement, harvester;

¢) the adverbs formed from these adjectives:

fast, easy, profitable, deep.
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(A) Exercise 13. Complete the table with the appropriate adverbs.

final
profitable
numerous
primary
physical
deep
special
principal
general
great

(A) Exercise 14. Translate these word combinations formed by the
model Adj+N (kakoii).

agricultural implement, heavy machinery, principal kind, several types,
special crops, special conditions, liquid form, gaseous form, principal
machines, important machine, general work, great advantage.

(A) Exercise 15. Translate these word combinations formed by the
model N+N (kakoii) , N+N (uero?).

Moldboard plow, disc coulter, skim coulter, beet cultivator, bean cultiva-
tor, lister cultivator, field cultivator, chisel cultivator, plant parts, food
crops, feed crops, grain drill, barnyard manure, food elements, fertilizer
distributor, seed crops, beet harvester, potato harvester.

(A) Exercise 16. Transform the model N of Adj+N into the model
Adj+N+N.

Model: The School of Mechanical Engineering —The Mechanical Engi-
neering School.

A component of a mounted plough, a farame of a semi -mounted plough,
production of food crops, growing of feed crops, pulling of different im-
plements, a part of an agricultural crop.

(A) Exercise 17. Translate the infinitive constructions into Russian.

Different machinery to plow, many kinds of plows to improve the physi-
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cal conditions of the soil, harrows to stir the soil, cultivation machinery
to consolidate the soil, spreaders to apply manure, sprayers to apply fer-
tilizers in liquid form, mowers to make hay, beet harvesters to harvest
beets, tractors to pull many kinds of implements, wheeled tractors to do
general farm work.

(A) Exercise 18. Define which verb goes with which noun.

To pull potatoes

To make weeds

To harvest parts

To consolidate implements

To crush granular fertilizers
To eliminate hay

To plant farm machinery
To apply seeds

To cover clods

To use soil

(B) Exercise 19. Find the word or word combination which does not
fit into the group of synonyms.

To include — to contain, to improve, to comprise, to consist of, to have;
Machinery — tool, device, movement, equipment, implement, machine;
To accomplish — to do, to perform, to make, to produce, to fulfill, to act,
to introduce;

To keep — to move, to support, to hold, to maintain;

Soil — ground, layers of soil, seed, land;

To prevent — to let know, to use, to warn about, to avert, to anticipate, to
forestall.

26



(B) Exercise 20. Match the words on the right with their opposites
on the left.

To harvest feed crops
Harvesting machinery advantage
To improve abundant
To compact to deteriorate
Deficient difficult
Disadvantage slowly
General to sow
Faster primary tillage equipment
Easy to break up
Food crops special

(B) Exercise 21. Match the words in (A) with their definitions on the
left (B). One definition in B is odd.

A B
1)equipme | preparation of land for crop-bearing
nt

2) seedbed | thickness of material laid or lying on or spread over a
surface or forming one horizontal division

3) loose not compact, not closely packed

4) manure things needed for a purpose seed

5) tillage bed of fine soil in which to sow

6) seed a source of organic matter of plant or animal origin or a
mixture of both

7) layer outfit, tools, apparatus

a person who works in a branch of engineering

(B) Exercise 22. Find out the words and phrases which are not con-
nected with the problem of using farm machinery.

Moldboard plow, cattle, grain drills, poultry breeding, rakes, crawler, rod
weeders, livestock-breeding, thinners.

(B) Exercise 23. Fill in the gaps with the suitable verbs or their de-
rivatives from the exercise 7.

1) We all depend on... for food.

2) ... . are plant nutrients.

27

3) This is the usual ... method for correcting deficiencies of micronutri-
ents.

4) ... machines are used to break down the soil before or after a crop is
SOwn.

5) ... fall into mounted, semi-mounted, disc, moldboard.

6) Grain drills are used for ... cereal grains.

7) Tillage is the ... of soil for planting.

8) Hay ... takes place over a short period.

9) The combine-harvester is used ... all types of grain and seed crops.

10) ... the physical condition of the soil, some farm machinery is used.

(B) Exercise 24. Rewrite these sentences using the underlined nouns
as verbs.

Model: There was a lot of rain yesterday.
It rained a lot.

1) The farmer has a wide range of machinery.

2) Plow is designed to eliminate weeds.

3).A harrow is an implement used to crush the clods.

4) They grow many plants in their garden.

5) The device uses force to accomplish this work.

6) Cultivation machinery covers seeds_after a crop is sown.
7) Wheeled tractors are used for general farm work.

(B) Exercise 25. Translate into Russian paying attention to the un-
derlined words.

1) The secondary tillage equipment used by the farmer includes har-
rows, rollers etc.

2) We used cultivation machinery to break down the soil before a crop
is sown.

3) The device is to place_seeds in the soil.

4) Agricultural implements and machines occupy an important place_on
the modern farm.

5) My friend works at the Minsk tractor works.

6) The layers of soil have become compacted.

7) Heavy machinery compacted the soil greatly.

(C) Exercise 26. Make up your own sentences using the verbs
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(nouns, adjectives) given in exercise 2.

(C) Exercise 27. Look at the meanings of these words and answer
the question below the box.

Crawler ( n)- 1) person or thing that move slowly, pulling the body
along the ground or other surface; 2) overall garment made for a baby
to crawl about in

Clod (n)- 1) lump of earth, clay; 2) clumsy, heavy-footed person, 3) a
rough farm worker

Free (adj)- 1) not a slave, not in the power of another person or other
persons, not in prison; 2) not fixed or held back; 3) without, released
or exempt from; 4) without payment, costing nothing; 5) not occupied
or engaged, not being used; 6) coming or given readily, lavish; 7)
without restraint

Keep (v)- 1) cause sb or sth to remain in a specified state or position;
2) cause a process or state to continue; 3) prevent, hold back, refrain;
4) not let others know about it; 5) pay proper respect to, be faithful to,
observe, fulfill; 6) celebrate; 7) guard, protect; 8) continue to have; 9)
support, take care of, provide what is needed for, maintain

What is the meaning of these words in these sentences:

1. Crawlers are capable of doing very heavy work.

2. Disk harrows are used to crush the clods.

3. It is necessary to have the soil free from weeds during the growth of
plants.

4. Primary tillage equipment helps the farmer to keep the soil loose:.

Text Study

MeTtoanyeckne peKoMeHIANMH

JIs ycnenrHoro BBITIONHEHUS 3alaHuil 3TOro pasjelia, HeoOXO0auMO
3HATH JICKCUYECKUI MUHUMYM TIO TeM€, YMETh MEePEBOUTh PEUEBhIC Te-
MaTHUYeCKHE MOJIEIIH U UCTIOJIh30BaTh UX B pedr. B paboTe Haj Tekcramu
BaM IIOMOTYT TEMAaTHYECKHI CIIOBaph, a TaKXe CIHEIHaTu3UpPOBaHHBIC
cioBapH (CebCKOXO3HCTBEHHBIN U MOITUTEXHUIECKHIA).

TpeHupoBoUYHBIC 3aJaHUS PACIIPEIENICHHI MO TPEM YPOBHSIM CIIOXKHO-
ctu (A, B, C). MakcumanbHasi OlIEHKa 3HaHWI HA IEPBOM YPOBHE (A4) -6
bannos, Ha BTOpoM (B) — 8 6anios, Ha tpetbeM (C) — 10 6annos.
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(A, B) Exercise 1. Look through the text again to define whether the
following statements are true-or false. Correct the false ones.

1) There is a wide range of machines to plant.

2) Agricultural implements may be divided into several groups.
3) To prepare the soil for harvesting is the aim of tillage.

4) A harrow is designed to eliminate weeds.

5) After a crop is sown, fertilizing equipment is used.

6) Planting equipment is used to place seeds in the soil.

7) When soils are deficient in plant food elements, many types of fertil-
izers are applied.

8) There are diggers to harvest all types of seed crops.

9) A beet harvester is the most important machine on the farm.
10) Wheeled tractors are available for heavy loads.

(A) Exercise 2. Complete the sentences with the appropriate ending.

1) Today the farmer has many agricultural implements to... .
2) The machine is a device... .

3) Ploughs are divided into... .

4) The principal parts of a plow are... .

5) The sub-soiler breaks up the layers of soil... .

6) Cultivators are designed for ... .

7) To make hay ... .

8) To harvest beet ... .

9) To pull many kinds of implements ... .

10) To do general farm work ... .

(A) Exercise 3. Scan the text again to find English equivalents for the
following Russian words.

Youpars ypoxait 0e3 moTeph; MpeoOpa3oBHIBATH CHIIY B IBIKCHUE;
IIPOHUKATh OYCHb FHY6OKO; poxXoa TEXHUKH, CICHHUAJIBHBIC YCJIOBUS,
KOPMOBBIC KYJIBTYPBI; TPUCIIOCOOJICHUS IS MOCAIKU; UMETh IPEUMY-
IIECTBO, IMOYBEI, CTpaAaroIIne OT HEAOCTATKA NUTATCIIbHBIX BCUICCTB.

(A, B) Exercise 4. Divide the text into several parts. Find the key
words in each part.
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(A) Exercise 5. Read the text again and say what words the author
uses to describe.

1) The operations performed by farm machinery;
2) The three principal kinds of harrows;

3) The operations performed by a plow;

4) The function of a sub- soiler;

5) The principal parts of a plow;

6) The types of cultivators;

7) The types of planting equipment;

8) The machines to make hay;

9) The most important machine on the farm.

(A) Exercise 6. Scan the text to define the terms below.

1) machine

2) harrow

3) planting equipment
4) tractor

(A) Exercise 7. Write out of the text all the words and word combi-
nations that belong to each group.

. machinery to plow

. machinery to disc

. machinery to harrow

. machinery to plant

. machinery to fertilize
. machinery to harvest

AN N[ |W(N|—

(A) Exercise 8. Write out of the text all the words and word combi-
nations that belong to each group.

1. tractor

2. cultivator
3. harrow
4. plow

(A) Exercise 9. Choose the correct answers to the following questions
which you think fit best.
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What is the aim of tillage?
to cultivate

to prepare the soil

to harvest

oo -

What is a plow designed for?
making the soil more fertile
preparing the suitable seedbed
placing seeds

c o

W

How many components does a plow have?

oe

4
7
6

&

What is a bean cultivator designed to?
to cultivate beets

to cultivate beans

to cultivate weeds

coek

What can a tractor pull?
many kinds of implements
food crops

feed crops

oo v

(A, B) Exercise 10. Divide the text into several parts. Find the key
sentences in each part.

(A) Exercise 11. Read paragraph 3 and add the verbs to the follow-
ing words to have a short description of primary tillage equipment.

1) soil

2) plow

3) sub- soiler
4) harrow

(A) Exercise 12. Read paragraphs 4, 5 and add the verbs to the fol-
lowing words to have a short description of planting equipment and
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cultivation machinery.
1) soil

2) crop

3) seeds

4) planter

(A) Exercise 13. Read paragraph 6 and add the verbs to the follow-
ing words to have a short description of fertilizing equipment and
harvesting equipment.

1) fertilizer

2) crops

3) combine harvester
4) digger

(A) Exercise 14. Try to classify the following in the same way.

Model: tractor (wheeled, track-laying, farm, all-purpose, general-
purpose tractor, track-type)

1) machinery
2) equipment
3) plough

4) harrow

5) fertilizer

A) Exercise 15. Complete the following chart using the key-words
given below.

Cultivating machinery

Fertilizing equipment

Harvesting equipment

Key words: cultivator, manure spreader, sprayer pump, ploughshare,
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moldboard, wheel bearing, disc coulter, anti-rust preparation, lubrication,
chain drive, sprocket, clean down, to be coated.

(B) Exercise 16. Fill in the gaps with the suitable words from the box.

Crawlers, planting equipment, cultivation machinery, cover, motion,
sprayers, plant, level, seedbed, place, manure spreaders, harrow, beet

1) The machine changes ... into work.

2) Plow is available to prepare a ... .

3) To ... the ground a ... is used.

4) To ... seeds, ... is used.

5)...can ... parts or ... seeds in or on the soil.
6) Fertilizers in liquid form are applied by ... .
7) .. apply barnyard manure.

8) ... can be available on any type of land.

(B) Exercise 17. Name all farm machinery which can perform the
operations from exercise 3.

(B) Exercise 18. Write out from the text all the words and word
combinations that belong to each group.

1. tillage

2. cultivating
3. fertilizing
4. harvesting

(B) Exercise 19. Read the text and underline the differences between.

the aims of tillage and the aims of cultivation;
the aims of fertilizing and the aims of harvesting;
plows and harrows;

planting machinery and harvesting machinery.

o o

(B) Exercise 20. Fill in the table with the information from the text.
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The machine | Its function Sphere of ap- The main
plication components

. plow

. sub-soil

. harrow

. cultivator
. grain drill
. manure
spreader

7. combine
harvester

8. tractor

AN N[ |WIN|—

(B) Exercise 21. Scan the text to define the terms below.

machine

tillage

plow

sub-soiler
harrow

row-crop planter
granular fertilizer
sprayer

. manure spreader
10. combine harvester
11. digger

12. tractor

e Aol

(B) Exercise 22. Read the text once more and explain the differences
between.

a) the primary tillage equipment and the secondary tillage equipment;
b) cultivation machinery and planting equipment;

c¢) fertilizing equipment and harvesting equipment;

d) grain drills and row-crop planters;

e) combine harvesters and diggers;

f) wheeled tractors and track-laying tractors.
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(B) Exercise 23. State the functions of.

1) agricultural machinery

2) primary tillage equipment
3) secondary tillage equipment
4) cultivation machinery

5) fertilizing equipment

6) harvesting equipment

7) tractor

(C) Exercise 24. Imagine you are the examiner. Write down 5 ques-
tions about these subjects.

1. The main components of plows;
2. Types of fertilizers;

3. The equipment used for tillage;

4. Agricultural implements;

5. Machines required to make hay.

Work in pairs. Take it in turns to be the examiner and the candidate.
(C) Exercise 25. Give your reasons for the following statements.

a) A farmer must have a wide range of farm machinery;

b) The aim of tillage is to keep the soil loose;

c¢) The aim of tillage is to keep the soil free from weeds;

d) There are several types of cultivators for special crops;

e) There are several types of cultivators for special conditions;

(C) Exercise 26. Why do you think...

a) tractor to be the most important machine on the farm;
b) crawlers to have the great advantage in the farm work;
c) fertilizers to be applied;

d) sub-soiler to be used;

e) agricultural implements to be numerous and diversified.

Compare your reasons with a partner.
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(C) Exercise 27. Scan through the text quickly and identify what the
following words refer to.

. that

. which
. namely

it

. before or after

(C) Exercise 28. Compare.

a)
b)
¢)
d)
e)
f)

)
h)

Functions of plows and sub-soilers

Functions of harrows and plows

Functions of beet cultivators and bean cultivators

Functions of grain drills and bean cultivators

Functions of granular distributors and manure spreaders

Functions of beet harvesters and diggers

Functions of combine harvesters and potato harvesters
Functions of wheeled tractors and crawlers.
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Discussion

(A) Exercise 1. Complete the diagram and the table.

1)

Agricultural operations:

sowing, ...

Agricultural crops:

wheat, beans, ...

2)

Tractor

Agricultural implements

A

Tillage

equipment

Cultivation
machinery

[\

To place seeds &.
To plant part

Primary Secondary
tillage tillage

N

Fertilizing
equipment

[}

ploughs

harrows

hay

Seed v
crons

\ 4

vegetables

sprayersts

(A) Exercise 2. Speak about the functions of all groups of agricul-

tural machinery.

(A, B, C) Exercise 3. Make the plan of the text. Sum up the content
of the text according to your plan.

38




(A, B, C) Exercise 4. Provide answers to the following questions.

1) What agricultural operations is farm machinery known to perform?

2) What crops (vegetables, fruits, grain crops, industrial crops) are
sown (planted), harvested on the farm?

3) What is a machine?

4) What is the most important machine on the farm? What do you know
about the types of tractors? What implements can a tractor pull?
What is the difference between wheeled tractors and track-laying
tractors?

5) How many groups agricultural implements and machines may be
divided into? What are these groups?

6) What is tillage? What equipment can be used for tillage?

7) What is plow designed for?

8) What kinds of plows do you know?

9) What are the main parts of a plow?

10) Why may the layers of soil be compacted and how can we solve this
problem?

11) What are harrows used for?

12) What are the principal kinds of harrows?

13) What machinery is used to break down the soil before or after a crop
is sown?

14) Why are there many types of cultivators in use?

15) What is planting equipment designed to?

16) What are the means to improve soil fertility? What fertilizers do you
know? What equipment helps farmers to apply fertilizers?

17) What machinery is required for harvesting?

(B) Exercise 5. Compare the four groups of agricultural implements
and machines, their functions, their differences.

(B) Exercise 6. Speak on the following situations:
1) You have to sow and harvest such grain crops as wheat and bar-
ley. Speak about all the operations you will perform and the machin-

ery you will use.

2) You have to make hay. Speak about the operations you will per-
form and the machinery you will use.
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3) You have to plant potatoes. Speak about all the operations you
will perform and the machinery you will use.

(C) Exercise 7. Speak about the place of sowing, planting, ploughing,
harrowing, cultivating, fertilizing, harvesting, rolling, fallowing,
mulching in the field of different kinds of agricultural operations.

(C) Exercise 8. Make a dialogue according to the situations. Use the
words necessary, useful, essential etc. and expressions of requesting,
and your opinion.

Student A. Help your friend to understand the usage of numerous types
of agricultural implements and machines used on the farm. Get ready to
answer his questions.

Student B. Help your friend to understand the aims of tillage and differ-
ent implements used.

Student C. You have missed your classes and you don’t know anything
about cultivation machinery. Prepare your questions about cultivation
machinery.

Student D. You are asked about the means of improving soil fertility and
implements required. Answer the questions.

Student E. You want to buy new crawlers but you have doubts. Ask
about the advantages and disadvantages of crawlers and wheeled tractors.

(C) Exercise 9. Comment on the following aphorisms.
As you sow so must you reap.
The evil field will evil yield.
Illustrate one of them using a real situation.
(C) Exercise 10. Do we have the same types of machines in Belarus?

Don’t you think there is any necessity to use different types of agri-
cultural machines on our Belarusian farms?

40



Text B: «Component Parts of Machines»

ACTIVE VOCABULARY
Nouns
bearing MOAIITUITHUK
bolt oont
ball ITapHUK
ball bearing [TAPUKOBBINA MTOIIITAITHAK
cam KyJaK, KyJauoK, SKCIIEHTPHK
clutch CLIEIUICHUE

cylindrical pin

IWIHHIPWYECKUHI MTHPT

conical pin

KOHMYECKHH IITH T

differential mddepennman

fuel TOIUIUBO

friction clutch dpukironHas mydra
fluid power THJpaBIHYCCKas CHCTEMa
gearbox KopoOKka mepenad
intermittent motion TIPEPHIBUCTOE JIBIKCHUC
key KJIMH, TIITIOHKA

left hand thread JieBasi pe3pda

nut raiika

nose MEPEIHsS YaCTh MAITUHbI
overrunning clutch MydTa cBOOOAHOTO X0/1a
pulley IIKUB, OJIOK, POJIMK

pin mtudT, Nmanen, CTepKeHb, IIeHKa

(Bana)

power take- off — shaft (p.t.0)

BalJl 0T6opa MOIIIHOCTH

right hand thread npaBasi pe3bda
rolling bearing TIOAIIUITHAK KAUCHHS
roller bearing POJTMKOBBIN OIIUITHUK
rear wheel 3aJIHee KOJIECO
sprocket 3Be3709Ka, BeAyIIee Kojeco (Ty-

CEHUITBI)
shaft BaJl, OCh, IIITAHAEIb
spring MIPYKUHA
stationary motion IIOCTOAHHOC OBUKCHUEC
sliding bearing IO IIIUITHAK CKOJIBKEHUS
surface TIOBEPXHOCTb
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supporting bearing ONOPHBIH, HECYIITU MOAITHUITHUK

safety clutch NpeaOXpaHATeIbHAs MyhTa

speed ration OTHOIIICHUE CKOPOCTEH, Tmepena-
TOYHOE YHCIIO

screw BUHT, OOJT, IIypyn

thread pe3bba, Hape3Ka

transmission system TPaHCMHCCHOHHAS CHCTEMA

valve KJIanaH

washer maiiba

Verbs

alter U3MEHSITH (CH)

accomplish BBINOJIHATh

bring about (brought, brought) BBI3BIBaTh, OBITh IPUUUHON

convert BpalaThb

fasten 3aKpEIHTh, KPETHUTh, CKPEIUIATh

move forward JIBUTATh BIEPE]T

revolve BpaImaTh

Answer the following questions.

What component parts of a machine do you know? Must you know well
all of them? Why? Do you know how all these parts are connected?
You will learn it while reading the text B.

«COMPONENT PARTS OF MACHINES»

The great variety of bolts is used in the construction of farm machin-
ery. Most bolts are classified according to length, diameter and type of
thread.

Many types of nuts are used on farm machinery. Many types of
screws are also used in the construction of farm machinery. Screws
threads are made right-hand and left-hand.

Different kinds of washers are used in connection with bolts in farm ma-
chinery. They may be used on the end either beneath the head of the bolt
or beneath the nut.

There are several means fo fasten sprockets and pulleys to rotating
shafts. Keys are commonly used to fasten pulleys and sprockets to shafts.
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Pins are also needed. Pins can be divided into cylindrical pins and
conical or taper pins.

Springs play an important part in the operation of farm machinery.

A cam is an essential part of farm equipment. A cam produces inter-
mittent motion. Anything resting against the cam will be moved only
when the nose comes around to it; otherwise it remains stationary.

Thus machine parts are held together by different components.

Bearings in farm equipment are required to hold parts in position.
Bearing are divided into sliding and rolling. In sliding bearing, the re-
volving shaft is in direct contact with a fixed bearing surface. Rolling
bearings have balls or rollers placed between the shafts and supporting
bearing. Bearing with rolling contact may be divided into ball bearings
and roller bearings.

A machine is a device that uses force to accomplish something. More
technically iz is a device that transmits and changes force or motion into
work. A machine must have moving parts. An engine produces power by
burning air and fuel.

Clutch, gearbox and differential are the necessary components in the
transmission system. A clutch is a device between a power source and a
machine or between the working parts in a machine. In the operation of
farm equipment, clutches permit the starting of the engine with the ma-
chine disconnected. Friction clutches, safety clutches, overrunning
clutches are in use. Gearbox brings about a speed reduction between the
engine and rear wheels. The speed ratio can be altered by the gearbox.
The differential unit permits one wheel to rotate faster than the other
when the machine turns.

A hydraulic system is a method of transmitting power from the power
source to the machine or component being operated. /¢ contains many
parts: the pump that converts the power from the engine to fluid power,
the cylinder or motor that converts the fluid power to the motion and ac-
tion that are being performed, valves, filter which determines the useful
life of other parts in the system.

In operation of many farm machines, tractor is used to-move the ma-
chine forward. The power is transmitted from tractor to machine by
means of a power take-off shaft.
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Text Based Assignments
Language Study

(A) Exercise 1. Look through the text “Component Parts of Ma-
chines” quickly and find the italicized key words and phrases to
make predictions about what you expect the text to be about.

(A) Exercise 2. Guess the meaning of the following international
words.

Construction, diameter, type, bolt, rotation, cylindrical, operation, ma-
chine, component, position, contact, differential, transmission, system,
friction, reduction, hydraulic, method, motor, tractor.

(A) Exercise 3. Find in the text the English equivalents for the fol-
lowing Russian words.

CenbCKOX03SUCTBEHHAS TEXHUKA, KPEUTh, COSAUHSITH, OIS KHBATH,
MpeoOpa3oBLIBaTh, CKUTaTh, 3aITyCK IBUTATEISI, YePEI0BATh, BpaIaThCs,
YIIPaBJSITh, IPUBOANTH B IBIDKCHUE, BaJl 0TOOpA MOIITHOCTH.

(A) Exercise 4. Give the Russian equivalents for the following Eng-
lish words.

According to, the construction of farm machinery, in connection with,
beneath, intermittent motion, to remain stationary, to hold in position,
fixed bearing surface, rolling contact, to change force into work, moving
parts, a power source, working parts, a speed reduction, rear wheel,
speed ration, fluid power, useful life, to move forward, a power-take-off
shaft.

(A) Exercise 5. Make up nouns from the following verbs with the
help of the suffixes —sion, -tion.

To construct, to connect, to operate, to produce, to intermit, to move, to

pose, to transmit, to  disconnect, to reduce, to alter, to rotate, to con-
vert, to determine.
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(A) Exercise 6. The text describing the main component parts of ag-
ricultural machines includes many word-forms-derivatives. Find the
derivatives of the words.

1. to move (3)

2. touse (2)

3. toroll (2)

4. to transmit (3)
5. to operate (2)

(A) Exercise 7. Enrich your vocabulary. Make the nouns from the
following adjectives with the help of suffixes —ility, -ivity.

Variable, changeable, productive, reliable, available, serviceable, visible,
flexible, essential, active.

(A) Exercise 8. Make up adverbs from the following adjectives with
the help of the suffix —ly.

Common, technical, different, useful, essential, direct, necessary, hydrau-
lic.

(A) Exercise 9. What are these nouns derived from.

Transmission, equipment, washer, connection, construction, operation,
motion, bearing, position, reduction, action.

(A) Exercise 10. Translate the following word combinations formed
by the model N+N. When making your translation think that you
should use an adjective to do it better.

farm machinery, taper pin, farm equipment, ball bearing, roller bearing,
transmission system, friction clutch, speed ration, fluid power, speed re-
duction, machine part, safety clutch.

(A) Exercise 11. Transform the model N-of-N into the model N+N.
Type of thread, construction of farm machinery, head of the bolt, opera-

tion of farm machinery, part of farm equipment, component of trans-
mission system.
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(A) Exercise 12. What are these words derived from.

Rotating, resting, sliding, rolling, revolving, supporting, moving, burn-
ing, working, starting, overrunning, transmitting;

Used, classified, made, divided, moved, held, required, fixed, placed,
disconnected, altered, operated, performed, transmitted.

(A) Exercise 13. Find the synonyms to the following words in the
text.

To do, agricultural, to classify, a part, to include, a motor, a conical pin, a
motion, to utilize, to stay, a ball, to keep up, a force, an implement, a ma-
chinery, decrease, back, quickly, to work, to change into, facilities, to
bring about.

(A) Exercise 14. Find the word on the right which should logically
follow the word on the left.

To fasten the power
Rotating bearing
Intermittent stationary
To remain shaft

To hold the machine
Rolling wheel

To accomplish motion

To rotate together

To transmit sprockets
To move the work

(A) Exercise 15. Translate the following word combinations formed
by the model Adj+N.

A great variety, several means, conical pins, an essential part, intermit-
tent motion, a hydraulic system, useful life.

(A) Exercise 16. Find the most common word or word-combination
among the following.

Nut, screw, bolt, part, pulley, key, pin;
Clutch, transmission system, gearbox, differential;
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Pump, hydraulic system, motor, valve.

(A) Exercise 17. The following groups of words are related in mean-
ing because they have the same roots. Notice the different suffixes
indicating different parts of speech. Translate them.

Connect (v), connection (n);

Rotate (v), rotation (n),

Cylinder (n), cylindrical (adj);

Produce (v), producer (n), production (n),
Common (adj), commonly (adv);

Direct (v), direction (n), directly (adv);
Roll (v), roller (n);

Reduce (v), reduction (n);

Move (v), motion (n);

Transmit (v), transmission (n)

(A) Exercise 18. Choose the suitable preposition in brackets. Trans-
late the sentences.

1) The power —take —off must be equipped (with, by, of) two universal
joints.

2) Shafts are employed (for, to, by) transmit power.

3) The pulleys and belts may be divided (to, for, into) flat and v-shaped.
4) Key fastens sprocket (at, to, on) shatft.

5) This device changes motion (to, for, into) work.

6) A speed reduction between the engine and rear wheel is brought
(about, by, from) by gearbox.

7) It transmit power (at, from, on) the power source (to, at, on) the ma-
chine.

(A) Exercise 19. Find these words in the text and say what part of
speech they are.

Thread, screw, pin, bearing, differential, speed, power.
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(A) Exercise 20. Complete the table with the missing words.

verb Noun
unit
3aBoauTh (MOTOD)
to perform
reduction
KPEMHUTh

to revolve

fuel

(A) Exercise 21. Compare the meanings of these words in these word
combinations.

-right-about

- right-and-left

1) right -right-angled

-right- hand
-right-lined

- left-hand
-left-luggage office

2) left - leftmost

-leftwards

- left-wing

- to move forward

-to move about

3) to move -to move away

- to move over

- to move in

(A) Exercise 22. Translate the following combinations of words.

a) Component part, a component part of a machine, to use this compo-
nent part of a machine;

b) Many screws, many screws of the farm equipment;

¢) Sprockets of this machine, to fasten sprockets to this machine;

d) Shafts, different shafts, to fasten pulleys to different shafts;

e) Springs, springs for this machine.
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(B) Exercise 23. Match the nouns with the suitable adjectives. Point
out the prefixes and suffixes of the adjectives. What about their
meanings.

1) operation a) disconnected

2) movement b) discontinuous
3) position c¢) inadaptable

4) method d) unaccomplished
5) wheel f) disassembled

6) machine g) unknown

7) source h) joyless

8) life j) disadvantageous

(B) Exercise 24. Point out words and phrases which are not con-
nected with the problem of the component parts of machines.

Farm machinery, dormitory, to graduate from, motion, revolving shaft,
differential, labor-saving technologies, grain crops, to start the engine, to
convert the power to the motion, to cultivate.

(B) Exercise 25. What parts of speech are these words? What are
their meanings? Translate the sentences.

1) Screws threads may be left-hand. He threads the film into the camera.
2) Pins are subdivided into taper or cylindrical. She pins these parts to-
gether.

3) Spring is coming. Spring plays an important part in the operation of
agricultural machinery.

4) He has a long nose. The nose comes around to the cam.

5) Bearings hold parts in position. He is bearing an arm.

6) It produces power by burning fuel. The house is burning.

(B) Exercise 26. Find the correct word on the right opposite in the
meaning to the one on the left.

connected stationary
construction front
right-hand destruction
intermittent to_stop
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moving width

to start to move
reduction left-hand
rear disconnected
length increase

to remain uninterrupted

(B) Exercise 27. Match the word on the left (A) with its definitions on
the right (B).

A B

1) Power a) to begin something

2) Speed b) to support something

3) Tractor c¢) a measure of the time in which
something moves or happens

4) Bearing d) a motor vehicle for pulling
farm machinery or other heavy
loads

5) Engine e) a device for preventing
friction in a machine

6) Wheel f) mechanical or electrical energy

7) To start g) a machine that provides
power

8) Roller h) a round device that
turns on a shaft that passes
through its centre

9) To hold 1) a cylinder for rolling
over things or on which
something is wound

(B) Exercise 28. Complete these definitions.

a) A tractor is a machine...

b) A component partisa ...

¢) Diameterisa...

d) Farm machinery is ...

e) Air is a substance ...

f) Fuelis...

g) To operate a machine is to ...
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(B) Exercise 29. Give the English equivalents for the prepositions in
brackets.

1) There is a speed reduction (Mexny) the engine and rear wheels.
2) They are divided (B coorBeTcTBUM c) diameter.

3) Rolling bearing are divided (ua) ball and roller bearings.

4) A machine uses force (1) do some work.

5) It converts power (c) the engine (#a) fluid power.

6) The power is transmitted (mocpeactsom) of a power-take-off.

(B) Exercise 30. Translate the following word groups. Using different
parts of speech (nouns, infinitives, participles, and gerunds) will help
you do it better.

CpencrtBa kpenyeHus_3BE304EK; TPYKUHBI UTPAIOT BAXKHYIO POJIb IS
ynpaeneHus TeXHUKOW; CIEIUIEHHE TO3BOJIAET 3anycK JBUTATeNs; aug-
(epeHIMAN TO3BOIISIET gpauyeHue; GUIBTp, onpedensowuti N3HOCOCTOMU-
KOCTb; JABHIraTellb, Npespawaouyuti_CUITy B IBI)KEHUE; CUIA, nepeoaH-
Has ¢ TpPaKTopa.

(B) Exercise 31.Fill in the gaps with the suitable verbs or their de-
rivatives from the exercise 20.

1) ... is burned very quickly.

2) The tractor driver ...the engine.

3) Combine harvester ... many agricultural operations.

4) There is some speed ... there.

5) The shaft ... and it is in direct contact with a fixed bearing surface.
6) The stewardess asked the passengers to... the belts.

7) The transmission system ... clutches gearbox and differential.

8) .I know this .... It is known as the differential.

9) The gearbox ... the speed ratio.

(C) Exercise 32.Use the word given in brackets at the end of each line
to form a word that fits in the gap in the same line.

1) ... of the tractor includes definite devices and assemblies (to con-

struct).
2) ... is designed for transmitting the torque of the engine to different
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working equipment (to transmit).

3) The operator may ... the work of the tractor as whole and its separate
units (fo control).

4) ... equipment includes PTO, pulley, trailing and mounted implements
(to work).

5) ... bearings differ from ball bearing (o roll).

6) Farm machinery and tractors are required to function always ...
(proper).

7) The tractor will move and be capable of ... work (fo do).

Text Study

(A, B) Exercise 1. Define whether the following statements are true
or false. Correct the false ones.

1) Differential is one of the components of the transmission system.

2) Bolts may be classified according to length and width.

3) Bolts are used in connection with many kinds of washers.

4) Sprockets are fastened by several means.

5) In sliding bearing the revolving shaft is not in direct contact with a
fixed bearing surface.

6) The power in the tractor is transmitted to a machine by a power-take-
off.

7) Tractor is used in operation of many machines.

8) Keys are used to fasten bearings.

9) An engine produces power by burning air.

10) Bearing with sliding contact may be divided into ball and roller bearing.

(A) Exercise 2. Complete each sentence with the appropriate ending
from the box below.

1) A machine uses force ...

2) A clutch is situated between ...

3) The method of transmitting power from the source power to the ma-
chine ...

4) The aim of a gearbox is ...

5) Screw threads ...

6) Washers are used ...

7) Machine parts are held together ...
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by different components

are made right-hand and left-hand

with bolts

to do some work

is called a hydraulic system

a power source and the working parts

to bring about a speed reduction between the engine and rear wheel

(A, B) Exercise 3. Write out of the text all the words and word com-
binations that belong to each group.

Component Component Types of | Components
parts of the | parts of a hy- | bearings which hold ma-
transmission draulic system chine parts
system

(A) Exercise 4. Write out of the text all the component parts of ma-
chines.

(A) Exercise 5. Add some verbs from the text to the following com-
ponent parts of machines.

- Pump

- Tractor
- Cam

- Bearing
- Key

- Engine

- Gearbox

(A) Exercise 6. Find in the text the sentences that mean the same as.

1) meeTcs HECKOIBKO CITOCOOOB KPETUICHUS 3BE3/T0OUCK.

2) OH MO3BOJISAET OJTHOMY KOJIECY BpalIaThCs OBICTPEE, YeEM APYyTOMY.

3) Tpaktop HCHOIB3YyETCS ISl TPHUBEACHHSI B IBIDKEHUE PA3TUIHBIX
MalllnH.

4) Pe3p0a MOXeT OBITH TPAaBOCTOPOHHSIS M JIEBOCTOPOHHSIS.

5) 'mopaBnugeckas cucreMa BKIIOYaeT MHOKECTBO YacTeH.

6) 111aii0bI HCITONB3YIOTCS C OOITaMH.
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7) Ilpy>XvHBI TOMOTAIOT B YIIPaBICHHH MAITAHOM.
8) OHM KpensT 3BE37J0YKH K BaIy.
9) OTHomIeHHE CKOpOCTel H3MEHIETCsl Oaroapsi KOpoOKe repeaad.

(A, B) Exercise 7. Refer to the paragraph which carries the main
idea about bearings and complete the diagram below.

| Bearings

Sliding

[\

Ball bearings

(A, B) Exercise 8. Refer to the paragraph which carries the main
idea about transmission system and arrange these nouns into a col-
umn.

Clutch, gearbox, differential, friction clutch, safety clutch, overrunning
clutch.

(A, B) Exercise 9. Refer to the paragraph which carries the main
idea about different components of machines which hold machine
parts. Put the words given below in pairs. Two words have no pairs.
Which ones are they.

Bolts, engines, pulleys, shafts, pumps, keys, washers, nuts, pins.

(A) Exercise 10. For questions 1-5, choose the answers (A, B, C)
which you think fits best.

1. Where is power produced?

a. in the engine
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b. in the gearbox
c. in the clutch

2. What is used in operation of many machines?

a.component parts of machines

b.tractor

c.differential

3. How many ways to fasten sprockets to rotating shafts are there?
. some

. only one
. no one

o o e

. Why are different parts of machines held together?
. due to different components

. due to the farm equipment

. due to the engine

o o

|9,

. How can the speed be altered?

. by clutch
. by gearbox
c. by fluid power

o

6. What must a machine have to move?

a. moving parts
b. tractor
¢. a component

(B) Exercise 11. Fill in the gaps with the suitable words from the box.
If you are given endings to choose from in a box, make sure the end-
ing you choose is grammatically possible, logical.

transmission system filter balls
motion wheel fuel
the component parts bearings
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1) The second unit in the... is the gear box.

2) When a tractor turns the left ... must rotate faster.

3) ... are placed between the shatft.

4) A machine changes ... into work.

5) ...may be divided into two main classes.

6) When designing ... of farm equipment must be taken into considera-
tion.

7) Energy is produced by burning ... within the engine.

8) ...determines the useful life of many parts in the hydraulic system.

(B) Exercise 12. Put the sentences into the right order. Mind the con-
test of the text.

1) - Clutch, gearbox and differential are the main components of the
transmission system.

2) The machine parts are held together by different components.

3) Screws are used in the farm machines.

4) The differential permits one wheel to rotate faster than the other.
5) Rolling bearings have rollers.

6) A power-take-off transmits the power from the tractor to machine.
7) Pulleys and sprockets are fastened to shafts.

8) Intermittent motion is produced by a cam.

9) The useful life of the machine parts is determined due to a filter.
10) There are moving parts in a machine.

(B) Exercise 13. Read the text and write down the key words.

(B) Exercise 14. Read the text one more and find out the key sen-
tences.

(B) Exercise 15. Read the text and explain the differences between.

1) washers and keys

2) cams and bearings

3) sliding bearings and rolling bearings
4) clutches and gearboxes

5) differential units and pumps

6) cylinders and filters
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(B) Exercise 16. Organize the list of words into 3 groups and give a
title to each group.

Washer, bolt, clutch, pump, conical pin, gearbox, cylinder, cam, filter,
sliding bearing, valve, nut, pulley, key.

(B) Exercise 17. Replace the words and word combinations in italics.
Use the words from the text.

1) Many types of bolts are used o construct agricultural machinery.

2) Different kinds of washers are used to connect bolts.

3) The revolving shaft is directly connected with a fixed bearing surface.
4) Clutch permits to start the engine with a machine disconnected.

5) Keys are in common use.

(B) Exercise 18. Make the schemes reflecting the link between the
following objects.

1) Bolts, nuts, screws, washers, sprockets, pulleys, shafts, keys, pins,
cams;

2) Bearings, balls, sliding bearings, rolling bearings, ball bearings, roller
bearings;

3) Clutches, gearboxes, differentials, transmission system, friction
clutches, safety clutches, overrunning clutches;

4) Pumps, cylinders, valves, filters, hydraulic system.

(C) Exercise 19. Scan through the text quickly and identify what the
following words refer to.

They, it (3), which, that (2).

(C) Exercise 20. Give your reasons for the following statements.
Consult the text.

1) Different parts are used in the construction of farm machinery.

2) A hydraulic system is necessary in the construction of farm machinery.
3) Fuel is necessary in a machine.

4) Tractor is important to operate many farm machines.

5) Bearings are required in a machine.

6) Clutches play an important part.
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(C) Exercise 21. Imagine you are a farm machinery mechanic. Write
down 5 questions about these subjects.

a) transmission system

b) changing force into work
¢) hydraulic system

d) cam

e) tractor

Work in pairs. Make up a dialogue.
(C) Exercise 22. What do you know about.

Bolts
Screws
Washers
Keys

Pins

Cams
Bearings
Clutches
Gearboxes
Differentials
Pumps
Cylinders
Filters
Power-take-off

(C) Exercise 23. Link the sentences using appropriate linking words
and other connectors.

A) Where

An engine is a component part of a machine. The power is produced.
This is a sliding bearing. The revolving shaft is in direct contact with a
fixed bearing surface.

B) That

A machine is a device. It uses force to do some work.
It contains a pump. The pump converts the power from the power source
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to the machine.

c) By
The machine is moved forward. Tractor is used.
The parts are held in position. Bearings are used.

d) When
One wheel rotates faster. The machine turns.
The cam will be moved. The nose comes around to it.

e) Which

Filter is a part of hydraulic system. It determines the useful life of other
parts in the system.

Screws are their threads. Threads are made right-hand and left-hand.

) Such as
Bearings are available in two forms. Bearings can be sliding and rolling.

G) Then
The power is produced in the engine. It is transmitted to the machine.

(C) Exercise 24. Choose some verbs from the box and write sen-
tences about.

Power

Machine parts

Engine

Speed

Transmission system

Agricultural implements and machines
Hydraulic system

Tractor

OO0OO0OO0OO0OO00O0

DISCUSSION

(A, B) Exercise 1. Divide the text into several parts and entitle each
part in order to have the plan of the text.

(A, B, C) Exercise 2. Sum up the information from the text and
speak about the component parts of agricultural machines.

(A, B) Exercise 3. Complete the table using the information from the
text.

Farm Agricultural Component Functions of
machinery operations per- | parts of farm | component parts
formed by farm | machinery
machinery

Speak about the main component parts of machine using the table.

(A, B) Exercise 4. Complete the table using the information from the
text. Speak about the main components of machines using the table.

To fasten, to produce, to hold, to accomplish, to start, to alter, to bring
about, to rotate, to convert, to move
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Component verbs adjectives connectors
parts  of ma-
chines
Bolts, washers, | To classify Great For example
screws,  nuts, | To construct Right-hand lLe.
sprockets, pul- | To hold Left-hand As well as
leys, keys, pins | To use Different
To fasten Several
Cylindrical
Conical
Bearings To hold Such as
To divide Also
To have
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Engine To produce Due to
To burn By
To have
Transmission To transmit Necessary Such as
system To operate Rear
To permit
To bring about
To alter
To rotate
Hydraulic sys- | To transmit Useful Finally
tem To convert Which
To determine Or

(A, B, C) Exercise 5. Give a gist of the text using the boxes 1 and 2.

Give a detailed description using the boxes below.

1. Main idea

Farm machinery has many component parts

2. Major details

They are | They are | It produces | They are the | This is a
used to | required | power necessary... method
hold ma- | to  hold of...
chines parts in

parts position

3. Minor details

1) 2)in 1) 21D |2 1) 2) 3D 2) | 3)
con- mnto | ...| ... | burns
nec-
tion
with

(A, B, C) Exercise 6. Provide the answers to the following questions.
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1) What component parts are used in the construction of farm machinery?
2) How are most bolts classified?

3) Where are washers used?

4) What is the function of keys?

5) What component plays an important part in the operation of farm ma-
chinery?

6) What is the function of a cam?

7) Where are bearings required?

8) What types of bearings do you know?

9) What is the difference between sliding bearings and rolling bearings?
10) How is the power produced?

11) Why can a machine accomplish a work?

12) What is a transmission system? What is it used for?

13) What are the main components of a transmission system? Describe
each component of a transmission system.

14) What types of clutches do you know?

15) What method is called a hydraulic system?

16) What parts does it contain?

17) How is the power transmitted to a machine?
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JAOIMOJIHUTEJIBHBIE TEKCTHI (C, D)

TEKCT C (IloHumMaHHe OCHOBHBIX ()AaKTOB, COJdep:KAIUXCHA B
TEKCTe).

(A, B, C) Exercise 1. Before reading the text “Tractors” agree or
disagree with the following statements.

1) Tractor is one of the main machines on the farm.

2) The maximum horse power of a tractor is from 10 to 20 h.p. today.
3) Air-conditioned cabs are fitted to the tractor.

4) A standard tractor has four wheels.

5) Crawlers are more expensive than wheeled tractors.

6) Wheeled tractors are much more difficult to maintain than track-
laying tractors.

7) Crawlers can perform transport works.

TRACTORS

The internal combustion engine brought major changes to agriculture
in most of the world .The first successful gasoline tractor was built in the
United States in 1892. Within a few years several companies were manu-
facturing tractors in Germany, the United Kingdom and the United
States.

Major changes in tractor design throughout the century have produced
a much more efficient and useful machine. Principle among these were
the power take off, introduced in 1918, in which power from the tractor’s
engine could be transmitted directly to an implement through the use of a
special shaft; all-purpose or tricycle-type tractor (1924), which enabled
farmers to cultivate planted crops mechanically; rubber tires (1932),
which facilitated faster operating speeds; and the switch to four-wheel
drives and diesel power in the 1950s and 1960s, which greatly increased
the tractor’s pulling power.

The last innovations have led to the development of enormous trac-
tors usually having double tires on each wheel and enclosed, air-
conditioned cabs—that can pull several gangs of plows.

In agriculture tractors find their use in the wide variety of farm jobs
such as ploughing, disking, planting, cultivating, fertilizing, harvesting,
transport works and running machinery off the PTO shatft.
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Tractors occupy an important place on the farm as a source of power.
On many farms they together with truck or trailers, have entirely dis-
placed horses for farm work. Advantage of tractors power over the horse
is that tractor can be used continuously for heavy work. In addition to
pulling implements like ploughs and cultivators, a tractor may be used
with implements for bush-cleaning, ditch-filling and land-levelling.
Small tractors from 1 to 10 horse power, fitted with single- or twin cylin-
der petrol engines, may be used for garden and orchard work.

Farm tractors may be divided into two groups: wheeled and track-
laying. Wheeled tractors may be subdivided into standard and row-crop
types. Standard wheeled tractors are used for general work and do not
have the special features associated with row-crop tractors. Row-crop
tractors can be used for all ordinary purposes, but in addition they are
specially designed for working on root and other row crops.

Track-laying tractors or crawlers have the great advantage that they
can be used for heavy loads on almost any class of land. They are con-
siderably more economical in fuel than are wheel machines, but their
greater initial cost and their maintenance particularly that of the tracks,
may outweigh this advantage. The crawler is, however, the more effi-
cient type of tractor and, moreover, can go on the land earlier after rain
and so can work a greater number of days per year.

(A, B) Exercise 2. Read the first sentences of each paragraph and
name the problems that will be discussed in each of them.

(A) Exercise 3. Choose the best endings to the following statements.

1. The internal combustion engine brought major changes to ... in most
of the world.

a) industry

b) education

¢) agriculture

2. The first gasoline tractor was built ...
a) in Germany in 1892

b) in the USA in 1892
¢) in the United Kingdom in 1982
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3. In 1918 ... was introduced.
a) the clutch

b) the crankshaft

c) the power take off

4. Tractors are used in agriculture in the wide variety of farm jobs such
as ...

a) buying, advertising and selling

b) making measurements, testing and operating

¢) planting, cultivating and transport works

5. Small tractors can be used for ...

a) garden work

b) orchard work

¢) garden and orchard work

6. Row-crop tractors are specially designed ...

a) for working on root crops

b) for all ordinary purposes

c) for all ordinary purposes and on root and other row crops
7. Track-laying tractors can be used for heavy loads ...
a) on almost any class of land

b) on over moistened soils

¢) on sandy soils

(A) Exercise 4. In what paragraphs can you find the following in-
formation about.

a) The variety of farm jobs performed by the tractor paragraph-
b) The crawlers paragraph-
¢) The introduction of the power-take- off in tractor’s design ~ paragraph-

d) The row-crop tractors paragraph-
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e) The invention of the all-purpose tractors paragraph-

(A) Exercise 5. Give the English equivalents for the following Rus-
sian word combinations.

- JBWTaTeNlb BHYTPEHHETO CrOPaHUs
- a(ddexTrBHAA U MTOJIC3HAS MAIIIMHA

- YHUBEpCaJIbHBINA TPAKTOP

- PE3MHOBBIC ITHHBL

- xaOuWHa ¢ YCTaHOBKOM JIJIsl KOHIUIIMOHUPOBAHHSI BO3AyXa
- KOJIECHBIE TPAKTOPBI

- BaJ 0TOOpPa MOIITHOCTH

- KOJIECHBIE U TYCEHHYHBIE TPAKTOPHI

- TIOCIIEJHHE HOBIIECTBA

(A) Exercise 6. Match the words on the right (A) with their verbs on
the left.

A B
1) tractor a) to be displaced
2) power b) to be done
3) crops ¢) to work on root
4) several plows d) to be transmitted
5) horses e) to be used for garden
6) disking, planting, cultivating f) to be used for heavy work
7) wheeled tractors g) to pull
8) row-crop tractors h) to be cultivated
9) crawlers i) to be subdivided
10) small tractors j) to be built

(A) Exercise 7. Write down the gist of the text with the help of the
following phrases.

- the first tractor
- innovations in the design of the tractor
-tractor on modern farm

(A, B) Exercise 8. What facts are these dates connected with?
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1892
1918
1924
1932
1950-1960

(A, B, C) Exercise 9. Write down key words, phrases and topic sen-
tences which best express the general meaning of each paragraph.

(A, B, C) Exercise 10. Answer the following questions.

1) When did the first gasoline tractor appear?

2) Did the first tractor survive many changes in its design? What are
they?

3) Where are modern tractors used now? Why can they perform these
kinds of farm jobs?

4) What groups of tractors do you know?

(A, B, C) Exercise 11. State the problems that are discussed in the
text.

(A, B, C) Exercise 12. What words/ideas would you associate with
the notion “Tractor”?

(B, C) Exercise 13. What facts in the text were quite new and were
already known to you.

(B, C) Exercise 14. Find information in the text to prove that...

-the appearance of the first tractor is connected with the internal combus-
tion engine

-major changes in tractor design have produced more efficient and useful
machine

-tractors displaced horses for farm work

-there is a difference between standard wheeled tractors and row-crop
tractors

-there is a difference between wheeled tractors and crawlers.

(B, C) Exercise 15. Exclude some detailed information and write
down the annotation of the text.
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(C) Exercise 16. Paraphrase.

1) The first successful gasoline tractor was built in the USA.

2) The last innovations have led to the development of enormous trac-
tors that can pull several gangs of plows.

3) In agriculture tractors find their use in the wide variety of farm jobs.
4) Farm tractors may be divided into two groups: wheeled and track-
laying.

5) The crawler is, however, the more efficient type of tractor.

(C) Exercise 17. Complete the information from the text by adding
your own facts.

(C) Exercise 18. Write your own opinion how to improve a tractor.

Before your reading the text say what words/ideas would you associ-
ate with the notion “Maintenance and repair”.

TEKCT D Farm machinery maintenance and repair (nmouckosoe
qyTeHue)

I

Maintenance of cultivating machinery depends on the type of imple-
ment. Cultivators are not complicated implements and maintenance will
consist mainly of replacing or reversing the points. If a cultivator is fitted
with wheels, the wheel bearings will require daily lubrication. Lubrica-
tion is needed because of friction. Lubrication tends to reduce friction.

Lubricants are available in three forms: fluid oils, semisolids and sol-
ids. Engine oils and gear oils are fluid oils. They are used for lubricating
transmissions and gearboxes. Semisolids include the soft greases, such as
bearing grease. Universal oils are produced to serve all types of tractors
and implements.

As to the maintenance of a plough it will consist of lubrication Some
lubrication points will require oil lubrication and some will require
grease. Replacement of ploughshares will be necessary as work pro-
ceeds. At the end of the season’s work moldboards and disc coulters
should be coated with an anti-rust preparation. So the type of mainte-
nance done to the ploughs depends on the type of the implement.

Maintenance of fertilizing equipment is also necessary. As to a ma-
nure spreader its maintenance is no less important than it is to any other
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farm machinery. The acids in the manure attack the metal parts of the
machine. It is important to clean it when it is not to be used for a long
period. Manure spreaders usually have a number of chain drives that
have to be kept properly tensioned. The chains and sprockets will require
correct lubrication. Fertilizers are very corrosive to metals. At the end of
a day’s work the fertilizer hopper should be emptied. At the end of a sea-
son’s work, thorough cleaning of the whole machine is required. In
spraying equipment the sprayer pump requires daily attention when the
sprayer is in use. A sprayer operator is likely to have to remove nozzles
and filters for cleaning.

Harvesting equipment have to receive good maintenance. It has a
heavy job to do and there are many mechanisms on it that require regular
attention. The lubrication is divided into points that require daily, weekly
and annual attention. At the end of the harvesting season it should be
given a thorough clean down and servicing before it is put into storage.

The internal combustion engine burns its fuel inside the cylinder to
produce power. It is important that the engine does not overheat, but it is
equally important that the engine does not run too cool. The majority of
tractor engines are water-cooled. This is a more effective method for a
multi-cylinder engine. A water cooled engine which has to stand or oper-
ate in temperatures of freezing point and below must have an anti-freeze
solution mixed with the water. This will prevent damage to the radiator
and engine. It is necessary to use the correct amount of anti-freeze so that
adequate protection is given to the cooling system.

II

Agricultural implements and machines are so constructed that they
may be kept in good working order by systematic checking and making
the necessary adjustments, replacements and repairs. Day-to-day mainte-
nance and repair activities keep farm machinery and vehicles safe and
reliable. Maintenance activities include oil and filter changes, battery
replacement, and repairs including light metal machining.

Potential wastes generated as a result of farm machinery and vehicle
maintenance and repair activities can include used oil, spent fluids, spent
batteries, asbestos brake pads and linings, metal machining wastes, spent
organic solvents, and tires. These wastes have the potential to be released
to the environment if not handled properly, stored in secure areas with
secondary containment, and protected from exposure to weather.
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The impact of oil changes can be minimized by preventing releases
of used oil to the environment, and recycling or reusing used oil when-
ever possible.

Farm machinery and vehicles require regular changing of fluids, in-
cluding oil, coolant, and others. To minimize releases to the environment
these fluids should be drained and replaced in areas where there are no
connections to storm drains or municipal sewers.

Farm operators have three options for managing used batteries: recycling
through a supplier, recycling directly through a battery reclamation facil-
ity or direct disposal.

The major hazardous wastes from metal machining are waste cutting
oils, spent machine coolant and degreasing solvents. Material substitu-
tion and recycling are the two best means to reduce the volume of these
wastes.
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Equipment maintenance and repair is necessary to avoid down time
and to minimize major repairs. However maintaining and repairing ma-
chines can lead to serious injury. Workers should be trained in shops
safety and have the proper equipment to minimize or even eliminate the
impact of shop accidents. To prevent injuries when repairing machines
we have to:
1. Develop safe work areas, good habits and establish good housekeeping
practices.
2. Train workers.
3. Maintain machinery properly and promptly when repairs are needed.
4. Slow down and take time to think. Visualize what steps need to be
taken. Do not rush a job.
5. Wear proper clothing and protective gear.
6. Lift objects correctly.
7. Have a hazard-free shop. A well-lit, clean work bench and work area,
along with a regular cleaning schedule of the shop area, will go a long
way in eliminating hazards.
8. Isolate hazardous work areas. Have a proper storage area for paints,
pesticides and oily rags.
9. Be aware of common safety hazards. Take the time to look where you
are going: not only ahead, but behind, to the side and above.
10. Keep shields and guards in place.
11. Turn off the machine when working on it.
12. Use ladders properly.
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(A, B, C) Exercise 1. Read the first part of the text and say what
questions are discussed in it.

(A, B, C) Exercise 2. Read the second part of the text to say what
problems are raised in it.

(A, B, C) Exercise 3. Point out the part/parts about the prevention of
injuries when you are in a work shop.

(A) Exercise 4. Are these questions discussed in the first part of the
text: (Yes / No)

1) Maintenance of primary tillage equipment;
2) Maintenance of secondary tillage equipment;
3) Repair of the engine;

In the second part of the text:

1) Repair activities of agricultural implements and machines;

2) Maintenance activities of agricultural implements and machines;
3) Farm machinery maintenance and environmental protection;

In the third part of the text:

1) The impact of shop accidents;

2) Maintenance and repair danger;

3) The accidents happened while doing farm machinery maintenance and
repair.

(A, B) Exercise 5. Skim through the text and place each part under
one of the following headlines.

. Fertilizing equipment maintenance.

. Managing used batteries.

. Oil changes.

. Developing good habits.

. Wearing proper clothing.

. Cleaning work area.

. Three forms of lubricants.

. Using the correct amount of anti-frecze.
. The maintenance of manure spreaders.
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10. Storing the wastes in secure areas.

(A, B, C) Exercise 6. Look through the three parts of this text to say
how they are connected and why.

(A, B, C) Exercise 7. Entitle every part of the text.

(A, B, C) Exercise 8. The text makes suggestions about different pre-
ventive measures when repairing machines. Discuss the following.
Give your reasons.

1) We must have trained workers.
2) We must have time to think before performing a job.
3) We must have good habits when doing some repairing work.

(A, B, C) Exercise 9. Comment on the following statements.

1) Agricultural implements and machines need day-to-day maintenance
and repair activities.

2) Farm machinery maintenance and repair may result in environmental
pollution.

3) There are many means to reduce the volume of environmental pollu-
tion.

(A, B, C) Exercise 10. Write what you have learned from the text
about:

1) The necessity of day-to-day maintenance for all types of farm machin-
ery.

2) The maintenance activities and potential wastes generated as a result
of farm machinery and vehicle maintenance.

3) The measures to be taken to prevent injuries.

(A, B, C) Exercise 11. Have a look back at the text and write out
from it the words connected with maintenance and repair of farm
machines. These can be used later in your written production.

(A, B, C) Exercise 12. Complete 3 sentences with appropriate state-
ments using the information from the text:
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Maintenance of farm machinery depends on the type of an implement
being repaired.

a)
b)
¢)
d)

Maintenance activities include:

a)
b)
c)
d)
Workers should be trained in shops safety and have to:

a)
b)
¢)
d)

(A, B, C) Exercise 13. Write the abstract of the text.

(B, C) Exercise 14. What do you think the answer to the following
questions should be? Give your reasons.

Can we avoid repairing? Why is farm machinery maintenance necessary?

(B, C) Exercise 15. Comment on the text. Tell the group what infor-
mation might be interesting and useful to you as a future engineer.

(C) Exercise 16. Give the reasons to convince your friend to have
daily, weekly and annual farm machinery maintenance.

(C) Exercise 17. Write an article based on the information from this
text which sets out clearly all the possible arguments regarding farm
machinery maintenance and repair, its necessity to minimize losts
and major repairs. Conclude the article by outlining your own posi-
tion and explaining the reason for this.
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Grammar Revision

MeTtoauyecKkne peKoMeHAANNU

Jnist Toro 4TOOBI MPaBUIBHO BBITOMHHTH 337aHus pasaena Grammar
Revision, BaMm HEOOXOIUMO MOBTOPHUTH (WJIM U3YYHUTh) U YCBOUTH MaTe-
pHUal 1Mo yKa3aHHBIM TeMaM I'PaMMAaTHKH{, OMHPAasCh HA IIKOJbHBIE 3HA-
HUSl TPaMMAaTHK{ aHTJIMICKOTO S3bIKa W CHPAaBOYHBIM MaTepuall, Tpea-
CTaBJICHHBIN B paznenc 1 JaHHOW TEMBI.

Crnenytomuye TPEHHPOBOYHBIE 3aJaHHS PACIIPEIEIEHBI IO TPEM YpPOB-
HsAM ciiokHocTH (A, B, C), uT0o momoraeT nmpoBepHUTh 1 OLIEHUTH TITyOHHY
Y Ka4eCTBO YCBOGHMS MaTepuaa.

MakcuMmaliibHas OlleHKa 3HAHUIN Ha TIEPBOM YPOBHE (4) — 6 6anio08, Ha
BTOpOM (B) — 8 6annos, na tperbeM (C) — 10 b6annos.

The Infinitive

(A) Exercise 1. Find out the infinitives in these sentences. Translate
the sentences.

1) Engineers must know the best and most economical materials to use.

2) To design new machines is the task of a mechanical engineer.

3) For the computer system to operate, computer programs are required.
4) These programs can be easily changed according to the needs of the
user.

5) Many students go to work to different parts of the country in sum-
mer.

6) Next summer [ will work as a tractor driver.

7) To harvest we need many agricultural implements.

8) The soil is bad to cultivate.

9) The new fertilizers to be used next year will be better.

10) Electric motors are used to irrigate the soil.

(A) Exercise 2. Complete the table with the appropriate form of the
infinitive.

Tense form Active voice Passive voice

Simple To supply, to apply, to increase, to
produce, to harvest, to plow, to
thresh, to till, to mount, to improve

Continuous

Perfect
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(A) Exercise 3. Find out the incorrect form of the infinitive. Trans-
late the sentences.

1) We decided o get/ get our education at the Belarusian State Agrarian
Technical University.

2) Agriculture can provide/ to provide us with many products.

3) Using the Internet farmers may use/ to use of data provided by agri-
cultural colleges or other information centers.

4) If I were an engineer [ would to design/ design tools.

5) They prepare students to do/do specific jobs.

(A, B) Exercise 4. Make up a sentence. Use various forms of the In-
finitive. Translate your sentences.

to visit my close friend from time to time

to be visited by my close friend from time to time

It is nice to have visited you last week
to have been visited by Jack

to be doing such interesting work.

to have been doing this work all these years.

Give your own examples.

(A) Exercise 5. Rewrite these sentences using Perfect infinitives.

1) I’'m glad I’ve met you.

2) I was sorry I had disturbed you.

3) I expect I’ll have passed all my exams by June.
4) It seems that you made a mistake. (You seem...)
5) ’'m happy that I’ve had a chance to talk to you.
6) I was disappointed that I had missed the party.
7) It seems that she’s got lost.

8) She was pleased that she had found the house.

(A) Exercise 6. Change the sentences as show.

1) I couldn’t understand the timetable. (wasn’t able)
I wasn’t able to understand the timetable.

2) It’s important to eat enough. (you should)
3) I’d like to go sailing this summer. (I might)
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4) She will probably get married in June. (She expect)
5) I said I would help her. (I agreed)

6) It’s necessary to make careful plans. (we must)

7) Perhaps he’s ill. (He seems)

8) I want to change my job. (I wish I could)

9) I may come and see you next week. (I hope)

10) You don’t need to apologize. (You needn’t)

11) They will open a new branch in North London. (They have decided)
12) I will certainly pay you on Saturday. (I promise)
13) I couldn’t find the ticket office. (I didn’t manage)
14) I prefer to go by myself. (I would rather)

15) She said she wouldn’t see him again. (She refuse)
16) I can play chess. (I’ve learnt)

(A) Exercise 7. Point out the purpose of the objects according to the
model.

Example:

A: This paper describes important properties of new engineering materi-
als.

B: The purpose (aim, goal, object) of this paper is to describe properties
of new materials.

His report presents some information on the new fuel system.

The filter is used to clean petrol.

The speedometer is used to indicate the speed of a car.

. This book gives the description of agricultural implements and ma-
chines.

5. Agricultural machines were invented to replace manual labour.

PO

(A) Exercise 8. Paraphrase the sentences according to the model.

Example:
It is important to find the necessary information.
To find the necessary information is important.

1) It is impossible to store gas in an open tank.

2) It is quite necessary to apply organic fertilizers.
3) It is very essential to use farm machinery.

4) It is unnecessary to mix these substances.
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5) It is easy to follow these instructions.

6) It is difficult to improve the physical condition of the soil.
7) It is desirable to destroy weeds.

8) It is possible to couple the plow directly to the tractor.

9) It is important to prepare a suitable seedbed.

(B) Exercise 9. Read the sentences of the exercise 1. and analyze the
forms of infinitives and their functions.

(B) Exercise 10. Open the brackets using the infinitives. Translate
the sentences.

1) There are good facilities (study) at the university.

2) Do you consider these species (grow) for many centuries?

3) The chairman ordered the field (plow).

4) They must (work) in the garden now.

5) They are said (be) at the agricultural exhibition in London last
month.

6) We know him (work) hard at a very interesting scientific problem.

7) Graduates can (work) at join ventures and banks.

8) The work (do) is difficult.

(B) Exercise 11. Can you explain what is wrong with these sentences?
Correct them.

1) The new irrigation canal to construct here next year will be better.

2) A group of students came to the University training farm in Borovly-
any practice driving tractors.

3) The new method be used in cattle breeding was discussed at the con-
ference.

4) This soil is too poor to produced high yields.

5) Improve soil fertility farmers must to apply fertilizers.

(C) Exercise 12. Join the following pairs of sentences using the infini-
tive. What is the function of infinitives in all these sentences?

1) The students carry out research work in different student’s groups
and societies.

They want to be better prepared for work in industry.

2) Wind, water and animals were used. They provided energy for various
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devices.

3) They study a lot of subjects. They want to have a basic knowledge of
the sciences.

4) Tractors, lorries and other machinery permit it. The time required for
agricultural work is reduced.

5) A moldboard plow helped the farmers. The farmers used it to elimi-
nate weeds.

(C) Exercise 13. Put the words into the right order to get sentences
with the infinitive as a:

a) Subject
Me, gives, to study, at, the Belarusian State Agrarian Technical Univer-
sity, it, pleasure.

b) Adverbial modifier
To increase, they, fertilizers, the quality of, in the yield of the grain,
improve.

¢) Attribute
To rest, to work, I, a desire, at the University, and, here, have.

d) Predicative
Use of chemicals, cause, to, can, the environment, improper, damage.

e) Object
To operate, is, the implement, easy.

(C) Exercise 14. Group the sentences according to the functions of
the Infinitive. Translate the sentences.

1) To increase the yields collective farmers must use fertilizers.

2) The aim of science and technology is to help make agriculture more
productive.

3) Agriculture uses areas of land to produce food, closing, shelter.

4) All farms have to introduce better crop rotation systems.

5) To develop a new method of plowing was necessary.

6) The earliest efforts of people were to lift themselves from primitive
cultures.

7) Agricultural enterprises are able to obtain high yields of crops.
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8) The purpose of computers is to help farmers in some farm operations.
9) To practice driving cars, tractors, lorries and other machinery is very
important.

10) Another factor for the agricultural engineer to consider is whether
each process can be automated in whole or in part.

(C) Exercise 15. Being a student of the Belarusian State Agrarian
Technical University, say what facilities you have at the university
using the model.

Model A: I have the possibility to practice driving a car.
Model B: I can practice driving a car.

What functions do the infinitives have in these sentences?
Say what facilities you do not have and what you would have.

(C) Exercisel6. Explain why people do the following things. Give as
many reasons as you can.

Example:

Why do you use calculators?

We use calculators (in order) to count quicker, to avoid mistakes, to save
time, etc.

1) Why do people need computers?

2) Why does everybody want a car?

3) Why are we using solar energy nowadays?

4) Why have engineers created robots?

5) Why do you practice in the lab?

6) Why do farmers apply lime?

7) Why are fertilizers applied to the soil?

8) Why do people cultivate lands?

9) Why do farmers all over the world breed animals?
10) Why do farmers grow various kinds of crops?

(C) Exercise 17. Translate into English using the Infinitive.
1) O6pabaTeIBaTh 3TOT y4aCTOK (3€MIIH) OYEHB TPYIHO.

2) YToOBI MOBBICUTH YPOKal, HYKHO IPAUMEHSITH YIA0OpEHUsI.
3) DTOT MEXaHU3M CIIMIITKOM yCTapes, 9TOOBI €T0 MCIOIb30BaTh.
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4) O4eHb BaXHO UCIIOJIL30BATh COBPEMEHHOE 000PY/I0OBaHUE B CEITHCKOM
XO3SICTBE.

5) 3apmaua XO03fHCTBa 3aKIOYaeTCid B TOM, 4YTOOBI MEXaHHU3UPOBATh
OOJBIIMHCTBO CENbCKOX03AHCTBEHHBIX MPOIIECCOB.

6) BaxxHO opoImiate 3TOT y4acTOK 3eMIIH.

7) MsI roBopuiiu 0 HOBOHM ¢epMe, KoTopasi JOKHA OBITh TOCTPOEHa B
CIIEYTOIIEM TOY.

The Complex Object

(A) Exercise 1. Translate the sentences paying special attention to
the use of the Complex Object.

1) We know plants to provide us with food, clothing, shelter and many
other things.

2) The farmer wants the crop to be sown earlier this spring.

3) They heard the farmer speak about the new crop.

4) We believe the new equipment to be used this year.

5) Iknow these fertilizers to be applied regularly.

6) They saw the tractor cross the field.

7) We can expect new uses of plants to be found.

8) We saw him drive the combine-harvester.

9) Everybody knows cultivation of plants to be closely connected with
man’s progress.

10) The farmers consider the crops grown in this region to be especially
useful.

(A) Exercise 2. Fill in the blanks with the particle “to” where neces-
sary.

1) Do you consider these species ... have been grown for many centu-
ries?

2) Do you believe people now ... be as dependent on plants as primitive
man was?

3) The agronomist does not expect the plant... grow under dry conditions.
4) You can not make him ... use this machinery on his field

5) Let the chief engineer ... know about the problems of your farm.

6) They saw the new farm machinery ... be used on this type of soil.

7) 1 did not notice him ... visit the exhibition.
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(A) Exercise 3. Which of these sentences contains the Complex Ob-
ject?

1) His aim is to till the soil.

2) He wants to till the soil.

3) We know that he will till the soil.
4) We know him to till the soil.

(A) Exercise 4. Point out which sentence fits to this Russian equiva-
lent.

«MBbI X0THM, YTOOBI OHM MEXaHU3UPOBAJIM BCe NMpouecchl Ha epmey.

1) We want to mechanize all the processes on the farm.
2) We want them to mechanize all the processes on the farm.
3) They will mechanize all the processes on the farm.

(A) Exercise 5. Point out which sentence fits to the English equivalent.

«We know the harrow to be used for eliminating weeds».

1) MpsI 3HaeM 00 HCIIOIB30BaHUH TIIYTA.

2) MBpsI 3HaeM, 4TO ITUTYT UCIOIB3YeTCH.

3) Mbel 3HaeM, 9TO TUTYT HCTIOIB3YETCS IS yAaJCHUSI COPHSIKOB.

4) MBpbI XO0TUM, 9TOOBI TUTYT MCTIOIB30BAJICS I YAAICHUS COPHIKOB

(A) Exercise 6. Match the parts of the sentences.

It is the tractor to be used in cattle breeding

We have a good idea to be solved immediately

This farm was the last to use the most modern farm ma-
chinery for livestock breeding

This is a chance to answer this question

We have a problem to finish the construction of a
new barn

These are the builders to work on the field

One should have someone to be repaired

There are harvesters to get high yields of potatoes

That farm was the first to plough the soil

This is the new method to increase the production of the
farm
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(A) Exercise 7. Paraphrase the following sentences using the Com-
plex Object according to the model.

Model: I don’t like it when these fertilizers are not applied regularly.
I don’t like these fertilizers not to be applied regularly.

1) We all believe the crop would be harvested in time.

2) I expect the experiment would give good results.

3) We think he would become a very qualified specialist in the field of
agriculture.

4) We dislike it when old cultivation machinery is used on the farm.

5) They like it when the farmers have a proper seedbed to provide a good
development of the seeds.

(B) Exercise 8. Complete these sentences so that the meaning is simi-
lar to the first sentence.

1) I'was surprised that he was studying at the Belarusian State Agrarian
Technical University.

I did not expect ...

2) Don’t stop him applying fertilizers where soils are deficient.

Let ...

3) When you till the soil, it helps you keep the soil loose and free from
weeds.

Tillage makes...

4) 1 think several types of cultivators should be used for special crops
and conditions.

I want ...

5) Don’t let him forget to repair the sub-soiler.

Remind ...

6) At first I did not want to buy a semi mounted plow but he persuaded me.
He persuaded ...

(B, C) Exercise 9. Complete the questions. Use: “Do you want me to
...?” Or “Would you like me to ...?” With one of the verbs (= any
other necessary words).

1) Have you got enough harvesting equipment or do you want ...?

2) Shall I practice driving combine-harvesters or would you ...?
3) Do you know how to use the tractor or would you...?
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4) Did you hear what seeds are bought or do you...?

5) Can you prepare the seedbed now or do...?

6) Will you ask the farmer to show you how to use this attachment or
do...?

(B) Exercise 10. Use one of the verbs to complete the sentences,
translate them into Russian. Find the Complex Object in each sen-
tence.

| to buy, to give, to be (2), to see, to use, to meet |

1) Iknow terms work, force, and power ... in mechanical engineering.
2) We know the rate of doing work ... in terms of horsepower, often
abbreviated hp.

3) We know the force ... an effort that results in physical change.

4) They would like them ... the latest achievements in farm machinery.
5) He would be glad them ... these engineers at the railway station.

6) Do you believe modern science ... without modern technology?

7) Iwould like him ... some disc plows for our farm.

(B) Exercise 11. Can you explain what is wrong with these sentences?

1) The farmers discussed the tools for mulching and fallowing be used.
2) He finds the spike tooth harrow useful in his work.

3) They noticed to be bought the new grain drills on the world market.

4) We do not believe modern agriculture being without computer.

5) Manure spreaders, fertilizer distributors, sprayers let the farmer to ap-
ply fertilizers.

6) We suppose track-laying tractor has the great advantage.

(B, C) Exercise 12. Find in the text the sentences with the Complex
Object. Turn them into the simple ones.

(C) Exercise 13. Translate the sentences into English paying atten-
tion to the use of the Complex Object.

1) CryzaeHTs HAOIIOATH, KAK PEMOHTAPOBAIN KOMOAH.

2) S 3Haro, 9TO OH KBaTU(HUITHPOBAHHBIN WHKCHED.

3) S xody, 9TOOBI BBl IOTOBOPWIIH C HHYKEHEPOM T10 OXpaHe TPy/a.

4) Mgl 3HaeM, 9To OH yunTcs Ha dakyssrere “Texamueckuit CepBuc”.
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5) OHu cuuTanH, 4TO KUJAKHE YIOOpEHHS HE MOTYT HCIOJIb30BATHCS
JUTSL 3TUX KYJBTYDP.

6) 4 xody, 4TOOBI BBl MOJYYHIM KaK MOXKHO Ooiibllie HH(MOpMALUU O
TpaKTOpax, BBITyCKaeMbIX B HaIlIeH pecIyOuKe.

7) Sl HaXx0Xy, UTO HE JIEFKO MOJyYnTh BBICIIEE 00pa30BaHuUE.

8) 4 cumraro HeOOXOAUMBIM HCIIOIB30BATH OTBAIBHBIH ILTYT.

9) Xoportuast ydopouHasi TEXHUKA 3HAUUTEIBHO YCKOPHIIA YOOPKY ypoxKasi.

The Complex Subject

(A) Exercise 1. Translate the sentences, paying special attention to
the use of the Complex Subject.

Model: These ploughing methods are considered to be satisfactory. Cuu-
TalOT, YTO 3TH METOJII IUTYKHON 00paOOTKH yIOBIETBOPUTEIbHEI.

1) Farm equipment mechanics are considered to maintain, repair and
install machines used in agriculture.

2) Under these conditions wheat is likely to grow well.

3) A harrow is known to be used for leveling the ground.

4) He is said to be a good engineer.

5) The students are sure to have an opportunity to get professions of a
driver, a tractor driver.

(A) Exercise 2. Match the beginnings of the sentences with their
ends. Pay attention to the verbs used with the Complex Subject.

1) The choice of profession is known to...

2) Heis sure to...

3) Crops are considered to...

4) The soil is reported to ...

5) At present many problems in agriculture are likely to ...
6) The most modern farm machinery is sure to ...

7) Improper use of chemicals is certain to ...

8) Fruit crops are known to ...

include apples, cherries, plums, pears

be difficult and important
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be subdivided into food crops, feed crops and industrial
crops

be used for crop cultivation

enter the BSATU

be dangerous and to cause damage

be connected with ecology

be the basis of agriculture

(A) Exercise 3. Express the same idea:
a) less categorically

Model: This method gives good results.
This method seems to give good results.

1) Applying fertilizers is very efficient.

2) The results of the experiment are inaccurate.

3) The machine uses force to accomplish something.
4) Beet harvesters are available on this farm.

b) more categorically

Model: I believe that he will become a good specialist.
He is sure to become a good specialist.

1) I believe that this problem is of vital importance.

2) We suppose that tractors will find a wide application:

3) We think this new grain-drill will be available on our farm.
4) We believe this new machinery to be used.

(A) Exercise 4. Choose the correct translation for the underlined
part of the sentence.

1) The scientists are said to be developing new kinds of wheat and barley.

85

a) pa3paboranu B) pa3pabaTHIBAIOT

2) They seem to have improved previous results.
a) yIyqIaT B) YIYUIINIH

3) An experimental farm proves 7o have been built in this region.
a) CTpOUTCA B) ObUIa IOCTpOEHA

4) The yields of grain crops are estimated to be increasing.
a) YBEITMYHBAIOTCS B) YBEIHYATCS

5) The research is reported to have been carried out successfully.
a) OBUTO TIPOBENIEHO B) OyJZIeT IIPOBEICHO

6) - Electric motors are likely fo be used to run milking machines, irriga-
tion pumps and many other machines.
a) UCTIONMB3YIOTCS B) HUCIIOJIb30BAIIA

(A) Exercise 5. What sentence contains the Complex Subject.

1) Their group is to work on a big farm.

2) Their group wants to work on a big farm.

3) They know that they will work on a big farm.
4) Their group is known to work on a big farm.

(A) Exercise 6. Point out the sentence that means the same as: «I'o-
BOPSIT, UTO B X X035iCTBE BCE MPOLECCH MEXaHM3UPOBAHBI».

1) We have mechanized all the processes on the farm.
2) All the processes on the farm are said to be mechanized.
3) They will mechanize all the processes on the farm.

(A) Exercise 7. Find out the sentence containing the Infinitive Per-
fect. Translate it into Russian.

1) The scientists have improved soil fertility.

2) The fertility of the soil has been improved.

3) The scientists are reported to improve soil fertility.
4) The scientists are said to have improved soil fertility.
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(A) Exercise 8. Point out the sentence that means the same as: “The
farm is supposed to build a new barn for cattle”.

1) HosBpslit KOpoBHHK OyA€T OCTPOEH Ha depme.
2) ®epma NOCTPOUT HOBBIH KOPOBHUK.
3) IIpemnonaratot, uto hepma MOCTPOUT HOBBIH KOPOBHUK.

(A) Exercise 9. Paraphrase these two sentences using the Complex
Subject.

Model: It is founded that the battery is dead.
The battery is found to be dead.

1) It seems that applying organic and mineral fertilizers increase crop
yields.

2) It is unlikely that engineers will find a solution to the problem
quickly.

3) We expect this method to offer some advantages.

4) He supposes Belarus to belong to the area of so-called unstable farm-
ing.

5) The car mechanic believes field cultivators to have many advantages.
6) They consider the tractor to be the most important machine on the
modern farm.

7) 1believe that he will become a good specialist

(B) Exercise 10. Open the brackets and use the verbs in the correct
form.

1) Mr. Frolov (to say) to be a good engineer.

2) Most of the farms (to suppose) to have mixed crop and livestock
farming.

3) Farm equipment mechanics (to expect) to replace the worn and bro-
ken parts.

4) The republic (to know) to be a traditional exporter of agricultural
products.

5) The engine (to happen) to have the problem.

6) A piece of farm equipment (to appear) not to work correctly.

7) Tractors, lorries and other machinery (to find) to reduce the time re-
quired for agricultural work.
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(B) Exercise 11. Translate the words in brackets.

1) He is thought (0s11) a very good engineer.

2) The results of the experiment are believed (0bu1H) very good.

3) The new instrument is expected (momMosxer) scientists solve many im-
portant problems.

4) A moldboard plow is known (mpumenumn) in the middle of the 18"
century.

5) Diesels are sure (paborator) on rather cheap fuel.

6) Agricultural jobs are known (TpeOyroT) more intricate agricultural ma-
chinery.

(B) Exercise 12. Complete the sentences, using the Complex Subject.

1) The farm is known to...

2) Vegetables are said to ...

3) We expect every student of our department to ...
4) The soil is found to...

5) The agronomist wants the crop ...

6) New uses of plants are expected to...

7) The raw material is reported to...

(B, C) Exercise 13. Point out the sentences containing the Complex
Subject and translate them into Russian.

1) To evaluate the results of the research we will study all the experi-
ments carried on in the laboratory.

2) This practice is believed to help raise soil fertility.

3) Iknow these fertilizers to be applied regularly.

4) We believe the farmers will be able to use the new equipment this year.
5) They are said to finish their work in three months.

6) To cultivate the crop one must study its characteristics.

7) For people to work better they should be interested in the results of
their labour.

(B) Exercise 14. Transform the Complex Object sentences into the
Complex Subject ones.

1) We expect them to begin harvesting in time.
2) They know beef cattle to be more widely distributed throughout the
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British Isles than dairy cattle.

3) Isuppose them to study driving a car and a combine-harvester.

4) He believes most farmers in this region to keep pigs and poultry.

5) The farmer found the cultivation machinery produced in Belarus to
be of good quality.

(B, C) Exercise 15. Find in the text the sentences with the Complex
Subject. Turn them into the simple ones.

(C) Exercise 16. Restore the original sentences.

1) Max/ to study/theoretical/is believed/mechanics.

2) This/ to be/of/is said/ importance/information/utmost.

3) The system/pollution-free/is reported/to be.

4) Young/are known/professionals/in/specialists/their field/to be.
5) Barley/to be grown/in/is reported/cooler/regions.

6) Soft/to be/ wheat/is known/for/making/excellent/biscuits.

(C) Exercise 17. Translate the sentences into English using your ac-
tive vocabulary.

1) U3BectHO, 9TO yAOOpEeHMs BHOCSATCS B MOYBY B PA3IUYHBIX (hOpMax.
2) Coobmraercsi, 9TO y4€HBIE CKOPO pa3pabOoTar0T HOBBIC BHBI OPYIUil
JUISL TIEPBUYHON 0OpabOTKHU MOYBHI.

3) Iloxose, 9TO MCIOIB30BAHUE ITOH MOJCIH KOJIECHOTO TPaKTopa 3a-
UHTEpECyeT hepMepoB.

4) Cuutaercs, 4TO TyCEHUYHbIE TPAKTOPHI UMEIOT INIaBHOE MPEeHMYIIle-
CTBO: X MO>KHO HCITOJIb30BaTh HA JJIOOOM THIIE TIOYB.

5) [Ipeanonaraercs, 9To OOpOHA MPEAOTBPAIIACT U YAAISICT COPHSIKH.
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The Objective Participial Construction

(A) Exercise 1. Form Participle II from the verbs given in brackets.
Translate the sentences paying attention to the use of the Objective
Participial Construction:

1) T want the mechanical engineers (to teach) high technologies of plant
growing and livestock production.

2) We have the results (to obtain) due to their experiment.

3) The students consider the graduates of the university (to work) only
on the farms of our republic.

4) Farm equipment mechanics understand testing equipment (to use) to
find out the problem.

5) They have the soil fertility (to improve) by the use of mineral fertil-
izers.

(A) Exercise 2. Form Participle I from the verbs given in brackets.
Translate the sentences paying attention to the use of the Objective
Participial Construction.

1) We noticed rotation systems (to differ) in various areas and under
various conditions.

2) He watched the students of our department (to work) on the training

farm.

3) When we entered the classroom, we saw many students (to write) at

the tables.

4) He was looking at the mower (to make) hay.

5) We found them (to finish) the work.

(A) Exercise 3. Read the sentences. Find the Objective-with-the- Pre-
sent-Participial constructions. Translate the sentences.

1) I saw him working in the garden.

2) Did you notice anyone waiting for the delegation?

3) We watched the students planting apple-trees.

4) He found them working on the farm.

5) When we entered the auditorium, we saw many students writing at the
tables.

6) We heard the chief engineer speaking about modern equipment.

7) The chairman found the engineers carrying out the analysis of the data
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with the help of a computer.

8) They watched the mechanic repairing the engine.

9) I heard the students talking about their summer practice.
10) We felt the sun heating the soil.

(A) Exercise 4. Compose sentences with the Objective Participial
Construction. Translate them into Russian.

1 saw all the plants repaired

We want the soil applying fertiliz-
ers

She feel these machines | being fertile

I heard the students talking about
their studies

The teacher found sprayers watered

(A) Exercise 5. Say what you saw (heard, noticed, observed, watched,
found) these people doing yesterday.

Example: Boris — to explain the way of doing it.
I saw Boris explaining the way of doing it.

The engineers to test new equipment

The students to speak about new farm produc-
tion

The manager to discuss the delivery

The technician to help the worker

The representative to go on business trip to Moscow

The sales representatives to work with foreign customers

The farm machinery maintenance | to make drawings and specifica-

engineer tions

The labour protection specialist to develop better materials

The engineer for electrification to know all about the new types of
energy

The mechanical engineer to help the farm machinery me-
chanic
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(A) Exercise 6. Say that you want these things changed.
Model: The device is out of order (to repair)
I would like to-have the device repaired.

1) The rod weeder has gone wrong (to test).

2) The grain drill has been badly produced (to reproduce)

3) The crawler is out of order (to repair).

4) The dimensions of the store room are badly measured (to measure
again).

5) The equipment for harvesting is not ready yet (to prepare).

6) The tractor is producing a lot of noise (to stop the engine).

(A) Exercise 7. Join the two statements to make one sentence with
the Object Participial Construction.

1) I see the engineer. The engineer is working at the experiment.

2) Isee her. She is preparing for a difficult experiment now.

3) Isee him. He is reading an article on the British educational system.

4) I see these two engineers. They are mounting a new electronic sys-
tem.

5) They see us. We are using this technique effectively.

(A) Exercise 8. Transform the following sentences into The Objective
Participial Constructions with Participle L.

Model 1: You can see that the tractor is pulling many kinds of farm im-
plements.
You can see the tractor pulling many kinds of farm imple-
ments.

1) He returned and saw that the chief engineer was talking with the
sales representatives.

2) He found that this student was still taking his exam.

3) I could see that tractors, combine harvesters and other equipment
were using on the farm.

4) She noticed that the engineer was working hard at this problem.

5) They saw that the crop was harvesting mechanically.

Model 2: A small book was lying open on the table. (to see)
She saw a small book /ying open on the table.
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1) My mother was cooking an oat cake. (to see)

2) His father was driving a combine harvester. (to see)

3) He was protesting that we use new British agricultural machinery in-
stead of Belarusian one. (to hear)

4) They were adding fertilizers to the soil to meet the plant food needs.
(to see)

5) The agronomist was making soil tests in order to determine what ele-
ments were deficient. (to see)

(A) Exercise 9. Transform the following sentences so as to use Com-
plex Objects with participle II.

Model: When I called on the manager, I found that he had gone.
When I called on the manager, I found him gone.

1) When we came to the conference, we found that soil scientists had
developed several instruments for measuring the amount of water in the
soil.

2) We found that the wheat had given good yields in this region.

3) He heard that the students had explained the principles of crop pro-
duction.

4) They considered that this scientist had applied advanced methods of
research.

5) The teacher observed that the student had learned the classification
of harvesting machinery.

(B) Exercise 10. Copy the sentences. Find The Objective Participial
Constructions. Translate the sentences.

1) I made him buy some new moldboard plows and beet cultivators.

2) I want the land used for breeding animals.

3) I saw him drive the combine harvester.

4) We want the agricultural equipment repaired in time.

5) They wish the crop yields increased.

6) Where did we have the first combine harvester designed?

7) He is unlikely to know when the first mechanical corn planter ap-
peared.

8) Electric motors are believed to run milking machines.

9) We see the farmer having a wide range of tractors gasoline and diesel
today.
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10) We want Belarusian agricultural products supplied to many coun-
tries.

(B) Exercise 11. Find the Object Participial Constructions in these
sentences. Translate them.

1) When he began to work at the factory he saw the engineers improv-
ing this new method of work.

2) They wanted the plant developed new types of vehicles.

3) He understood his friend dreamed to become a technical engineer.

4) We consider the tool engineer designed the tools.

5) They found the chemical engineer completed the experiments by the
21% of June.

6) We consider these specialists getting an advanced Master’s or Doc-
tor’s degree.

(B) Exercise 12. Compose sentences with the Objective-with-the-
Past-Participial constructions. Translate the sentences.

I’d like to get the equipment tested

We must couldn’t have the TV-set washed
They’d like | want the soil repaired
The Browns | to have his report prepared
Tom will get green save-lights | examined
The farmers | have the car printed
They wants these machines switched off

(C) Exercise 13. Translate into English the words given in brackets.
Use the Object Participial Construction or the Infinitive Complex.
Give two variants where possible.

1) We consider this country (umnoptupoBaia) butter, cheese, sugar and
some other agricultural products.

2) Did anybody hear British farms (3anumanucs) dairy or beef cattle?

3) I wanted the farms (o6ecneunBanu) many products from natural fibers
to ornamental flowers and trees.

4) They found many farmers (BbIparuBaiin) tobacco.

5) They wanted natural fibers (mosydensr) from a variety of plants and
animals.
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(C) Exercise 14. These two sentences have a different structure but
the same meaning. Change the structure of the sentences below so as
to keep their meaning unchanged.

1) We found that this scientist is investigating new means of produc-
tion.

2) The students assumed that an engineer was to solve practical prob-
lems.

3) She supposed that the pure scientist was working in the area of ap-
plied science and research.

4) They understand that the engineer applies his theoretical knowledge
to practice.

5) Iwould like to watch how a plow is returning a layer of the soil.

6) We consider that harrows belong to the secondary tillage equipment.

The Subjective Participial Construction

(A) Exercise 1. Translate the following sentences paying special at-
tention to The Subjective Participial Construction.

1) They were heard discussing new methods of applying fertilizers.

2) The engineers were seen showing new types of machinery produced
at the plant.

3) The student was seen talking with the rector.

4) A laser is found producing a powerful beam of light.

5) A tractor is found pulling many kinds of implements.

6) The plant is known developing new types of vehicles

(A) Exercise 2. Transform the following sentences so as to use The
Subjective Participial Construction. Begin your sentences with:

a) The students are seen...:

1) The students are driving a car.

2) The students are checking equipment.

3) The students are testing farm machinery.

4) The students are repairing machines used for planting.
5) The students are maintaining harvesting machinery.
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b) The engineer was seen...:

1) The engineer is studying some car devices:

2) The engineer is looking at the indications of speedometer.

3) The engineer is testing the new device.

4) The engineer is measuring the pressure.

5) The engineer is controlling the quality of engineering materials.

(A) Exercise 3. Choose the correct form.

1) The professors is/ are known reporting the results of the tests at the
class.

2) My group mate is/are seen working in the lab.

3) They were/was seen watching the engine while it was running to find
any loose parts or leeks.

4) The car was/were seen moving.

5) The farm equipment mechanics were/was seen tuning the engines.

(A) Exercise 4. Answer to the following questions using the model:
Model: What is the driver doing? (to see, to measure the pressure in the
wheels).
The driver was seen measuring the pressure in the wheels.

1) What are the students doing? (to see, to study a new device in the
lab)

2) What is your friend doing? (to hear, to describe the results of the
test).

3) What is he doing? (to see, to work with metal).

4) What is engineer doing? (to hear, to carry out an experiment).

5) What are the workers doing? (to see, to work in the workshop).

(A) Exercise 5. Transform the following sentences into sentences
with The Subjective Participial Construction.

Model: They overheard two people talking about her.
Two people were overheard talking about her.

1) We heard them mounting a new electronic system.

2) They head him using several types of cultivators for special crops.
3) The students of our department could see a combine harvester cut-
ting the standing grain.
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4) The engineers heard a new model of broad-cast planters developing
at this farm machinery enterprise.
5) They saw the students practicing to drive a car.

(A) Exercise 6. Change the structure of these sentences so as to keep
their meaning. Translate them into Russian.

Model: It is known that farmers use many implements for different
crops.
Farmers are known using many implements for different crops.

1) TItis known that farmers apply fertilizers in liquid and gaseous forms.
2) It is found that gearbox brings about a speed reduction between en-
gine and rear wheels.

3) Itis assumed that this machine is widely used in industry.

4) 1t is believed that this group of researchers experiments with a new
type of engine.

5) It is considered that this scientist applies advanced methods of re-
search.

(B) Exercise 7. Complete these sentences using active vocabulary and
the Subjective Participial Construction.

1) They were heard...

2) The student was seen...

3) The problem is known...

4) Farm machinery service department is known...
5) Mechanics are seen...

6) The engine is found...

(B) Exercise 8. Say.

a) What crops were seen growing when you visited the farm?

b) What machinery was seen performing ploughing and harvesting?

¢) What machinery was seen performing cultivation and fertilizing?

d) What machinery was seen performing harrowing and pulling many
kinds of other machinery?

f) What kinds of agricultural works was a farmer seen doing?

g) What was a mechanic seen repairing?

h) What a mechanic was seen checking, cleaning, tuning, replacing?
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(C) Exercise 9. Translate these sentences into Russian. Pay special
attention to the use of the Subjective Participial Construction:

1) Mbl yBuaenH ABYX CTYAE€HTOB, pabOTAIONIINX B MACTEPCKOI! 1O CBapKe.
2) Onwm ciplIany, 4To UX APYT yuuTes B bemopycckoM rocyiapcTBeH-
HOM arpapHOM TEXHHYECKOM YHHBEPCHUTETE.

3) U3BecTHO, 4TO MHXEHEPHI yYACTBYIOT B HAYYHOM DKCIIEPUMEHTE.

4) 13BeCcTHO, 4TO OH UCHOJB3YET 3Ty TEXHUKY B PACTCHHEBOJCTBE U KH-
BOTHOBO/JICTBE.

5) UzBecTHO, 4TO (hepMepbl MPUMEHSIOT OPraHHYECKHE H XUMHUYECKHUE
yaA00peHus.

The Nominative Absolute Participial Construction

(A) Exercise 1. Find the sentence containing the Nominative Abso-
lute Participial Construction. Translate it into Russian.

1) Students writing their course papers, their choice depends on the fac-
ulty and future specialty.

2) Students writing their course papers choose many agricultural prob-
lems.

3) I know many students writing their course papers.

(A) Exercise 2. Translate the following sentences paying special at-
tention to the use of the Nominative Absolute Participial Construc-
tion.

1) Fertilizers being used, soil fertility is improved.

2) Many crops are grown by this farm, wheat being the most important.
3) Rain falling to the land, soil erodes.

4) The farm has many large fields, some of them being under potatoes.
5) This crop being used for many different purposes, man cultivates it
all over the world.

6) Many agricultural processes having been mechanized, the work of
the farmers became much easier.
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(A) Exercise 3. Find out the Nominative Absolute Participial Con-
structions in each sentence. Explain the difference between these two
sentences.

1) We have many advanced students, some of them becoming members
of the Students’ Scientific Society.

2) Having many advanced students, they become members of the Stu-
dents’ Scientific Society.

(A) Exercise 4. Point out which sentence fits to this English equiva-
lent.

« Man cultivates many different crops, some of them being used in
medicine»

1) YemoBek BBIpAIIUBAET MHOTO PA3IUYHBIX KYJIBTYp IS MCIIONH30Ba-
HUS B MeguinHe. 2) YenoBek BhIpAlIMBAaeT MHOTO Pa3IWYHBIX KYJIbTYp,
KOTOpBIE OH MCHOJB3yeT B MeaunuHe. 3) UenmoBek BBIpalIMBaeT MHOTO
Pa3INYHBIX KYJbTYp, IPUYEM HEKOTOPBIE U3 HUX HCIOJB3YIOTCS B Me-
JULUHE.

(A) Exercise 5. Underline the Nominative Absolute Participial con-
structions in each sentence and translate them into Russian.

1) The error in the calculation having been noticed, we had to verify the
results.

2) Being asked about the motors, the student mentioned many kinds of
them.

3) Heat is developed when compressing a gas.

4) Having discovered the periodic law of elements Mendeleyev made
great contribution to world science.

(A) Exercise 6. What participle is used in the Nominative Absolute
Participial Construction: participle I or participle II? Translate the
sentences into Russian.

1) The work finished, the students returned home.

2) Pasture grasses growing well here, the farmers breed dairy cattle.

3) The plan was discussed in details, many workers taking part in the
discussion.
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4) The sugar beet crop growing well here, many farmers grow it.
5) He works on this farm, his brother working here too.

(A) Exercise 7. Read the sentences. Find the Absolute Participial
Constructions. Translate the sentences.

1) Being used for different purposes, these plants are cultivated in many
countries.

2) The weather being fine, we went to the country.

3) Weather permitting, the farmers will start the sowing.

4) The chief agronomist went to a new field, farmers following him.

5) Circumstances permitting, the mechanic will start repair without de-
lay.

6) Many agricultural processes having been mechanized, the work of the
farmers became much easier.

7) There are many milking machines on the farm, ten of them being new.
8) Man cultivates many different crops, some of them being used in
medicine.

(A) Exercise 8. Transform the following sentences so as to use the
Nominative Absolute Participial Construction.

Model: When the door bell rang, Ann rose and left the room.
The door bell ringing, Ann rose and left the room.

1) When the farmers introduce better crop rotation the yields of the
grain and other crops are increased.

2) Today’s farming is highly developed and intensive as many agricul-
tural processes are mechanized.

3) When water and steam were put to work the Industrial Revolution
began.

4) People began more efficient methods of work and his work became
easier.

5) As chemicals can cause damage to the environment we have to use
them in such a way as not to disturb the biological balance of the soil.
After a German engineer Rudolf Diesel invented a new engine known as
a diesel a transport revolution in cars, lorries, trains and ships began.
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(A) Exercise 9. Split these complex sentences into simple ones using
suitable conjunctions. Pay attention to the translation of the Nomina-
tive Absolute Participial Construction into Russian.

Model: A hologram is a three-dimensional image, special equipment
being necessary to produce it.

A hologram is a three-dimensional image and special equipment
is necessary to produce it.

1) The experiment being demonstrated, all the students watched it with
great attention.

2) The professor having delivered the lecture, the students ased many
questions to him.

3) There being some new grain harvesters on the farm, the collective
farmers gathered crop with minimum loss.

4) The device being repaired, we could use it for our work.

5) The combines being repaired in winter, the farmers got them in time.

(B) Exercise 10. Finish the following sentences with the Nominative Ab-
solute Participial Construction. Use the elements given in brackets.

1) The climate of British Isles is ideal for cattle (they, to find, in all ar-
eas).

2) British agriculture is highly specialized, (cattle, to serve, different
purposes in different districts.

3) Sheep played an important part in British agriculture (British farm-
ers, to have, a steady export of wool to the continent of Europe).

4) (Most farmers, to keep, pigs) pig production occurs in most areas.

5) We have a short growing season in Belarus (our country, to belong
to, the area of so-called unstable farming).

(B, C) Exercise 11. Find sentences with the Nominative Absolute
Participial Construction in the text A. Translate them.

(C) Exercise 12.Translate the contents in the brackets into English
using the Nominative Absolute Participial Construction.

1) (Tak xak cTpaHa MPOU3BOIUT OOIBIIOE KOTMIECTBO 3€PHOBBIX KYIb-

Typ), a large percentage of them is used to feed animals.
2) (Tak xak KIMMAaT IOAXOAUT JJIs BhIpalllMBaHus JibHA), the republic is
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one of the main producers of flax in the world.

3) (ITockonbKy OOmBINas YacTh HaceaeHUS BeMnkoOpUTaHUM KUBET W
paboTaer B roponax), urban areas occupy a small proportion of the total
land area.

4) Three-quarters of the land area is used for agriculture, (mpudyem oc-
TaJlbHAs YaCTh 3aHATA TOPAMH H JIECAMH).

5) Soft wheat is excellent for making biscuits, (Tak kak xjie0 TOJbKO K3
MSATKOH TIICHUIIBI 00JIee HI3KOTO KauecTBa).

(C) Exercise 13. Group the sentences: a) with attributive participial
construction; b) with adverbial participial construction; c¢) with
nominative absolute participial construction; d) with complex ob-
ject; f) with subjective participial construction; g) with complex sub-
ject; h) with objective participial construction. Translate the sen-
tences.

1) A new irrigation system having been built, some water problems were
solved.

2) The power-station being built on the river will supply electricity to all
the farms.

3) Sea water containing harmful substances cannot be used for irrigation
or drinking purposes.

4) Grass, trees and other plants slow the movement of water permitting
more water to enter the soil.

5) Belarus has sufficient fresh water resources.

6) The total amount of salts in sea water varies depending on how warm
the water is.

7) While teaching farm machinery and equipment he continued his self
education.

8) The driver having repaired the engine, we could continue our work.

9) We want them to design a new model of the tractor.

10) A speedometer is known to be a device to measure speed.

11) We consider track-laying tractors used for pulling a five or six-
furrow plough for heavy cultivation.

12) The engineer was seen working out a new model of crawler.
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The Gerundial Complex

(A) Exercise 1. Complete the table below to show how the gerund is
formed:

Infinitive Gerund Gerund Gerund (per- | Gerund
(indefinite | (indefinite | fect active) (perfect
active) passive) passive)

CaXaThb

to fasten

CCATh

to revolve

JVCKOBATh

to break

YIJIOTHATH

to convert

(A, B) Exercise 2. Translate the following sentences paying special
attention to the complexes with the gerund. State the function of the
complex.

1) He insisted on our using this new type of fertilizers.

2) Excuse my asking, but do you study at the Farm Machinery service
department?

3) I shall feel more comfortable if [ can count on your doing this work-in
time.

4) Do you think there is much chance of one seeing him again on our
farm?

5) We tried different farm machinery before our getting this new model
of tractors and now we are very happy.

6) Everyone liked the idea of his getting higher education at the Belaru-
sian State Agrarian Technical University.

7) They insisted on our visiting this exhibition in Germany.

8) It is useless their applying fertilizers on this field: the soil is not good
for flax.

9) I am against your working because you will have not much time for
your studies.
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(A) Exercise 3. Use the proper form of the gerund (as the second part
of complexes with the gerund) instead of the infinitive in brackets.

1) He told me all about his (to visit) the farm, and the questions he had
asked.

2) She could hear the sound of water (to suck) into dry soil.

3) There was no possibility for this student (to study) to drive a com-
bine harvester.

4) They saved time by their (to sow) earlier.

5) We have to compare these two plants before our (to plant) them.

(A) Exercise 4. Point out the sentence containing the Complex with
the gerund and its function.

1) - Students like asking questions at the lecture.

2) We found the error without repeating the experiment.

3) After his having worked at the factory for some years he entered the
University.

(A) Exercise 5. Point out the sentence containing complex with ger-
und in the function of “Complex Subject”.

1) Speaking foreign languages is of great importance for our students.
2) Their taking part in the top overhauling of the tractor was very useful
for them.

3) Has he tried checking the soil?

(A) Exercise 6. Point out the sentence containing the Complex with
the gerund in the function of “Complex Object”.

1) Do you mind the climate control system being inspected by the engi-
neer?

2) Recognizing the problem is the first step to its solution.

3) Experimenting with lasers is very dangerous.

(A) Exercise 7. Copy the sentences. Underline Infinitive, PI, PII or
Gerund. Translate the sentences.

1) Liquids and gases expand on heating.
2) I bought some frozen vegetables at the supermarket.
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3) When put into the water the flowers opened their petals.

4) We don’t intend placing orders for such machines.

5) Your working at the plant helps you to know technical subjects better.
6) How many years do you have to study to become a qualified engineer?
7) We know of Newton’s having developed principles of mechanics.

8) To operate the complex device is rather difficult.

9) The tractor driver has finished to plough the field in the afternoon.
10) He will go to the farm to be trained for practical work in agriculture.

(A) Exercise 8. Transform the following sentences so as to use com-
plexes with gerund. Use prepositions where necessary:

Model: 1. Everyone was surprised that she was there.
Everyone was surprised at her being there.

2. She insisted that I should apologize to her.
She insisted on my apologizing to her.

1) We know that the students were told about a new wheat variety and
climatic conditions of this region.

2) Iam for that the tractor was examined before its using.

3) Iremember that we discussed this engineer’s experiments with you.
4) We were about to suggest that you should visit our farm to see new
models of tractors bought in France.

5) They insisted that the new method of ploughing would be used on the
farm.

(A) Exercise 9. Shorten these sentences but do not change their
meanings.

Model: Having made a hologram we drew up a laboratory report

On our making a hologram we drew up a laboratory report.
1) Having recognized the problem the scientist tried to find its solution
2) Having changed the old machinery we received better results.
3) Having invented the diesel we ran many kinds of machines.
4) Having studied the features of acoustical system in this tractor our
young engineer improved it.
5) Having considered all the tractors the engineers changed the whole
system.
6) Having repaired the tractor the driver began his work in time.
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A) Exercise 10. Join two sentences into one. Pay attention to the use
of prepositions.

Model: Nitrogen is used in metal industry. We know that.
We know of nitrogen being used in metal industry.

1) Most vegetables are planted by seeding in the fields. We are aware of
that.

2) Many food crops tend to spoil quickly. We are afraid of that.

3) Hay balers gather the hay and bind it into bales. I was surprised
when [ saw it for the first time.

4) The students should study the types of agricultural machinery and
their characteristics. The professor insists on that.

5)~We should control pests and disease pathogens. The scientists, tech-
nical engineers and farmers recommend that.

(A) Exercise 11. Parephrase the following questions and let your
friend answer them. Use the prepositions where necessary.

Model: Do you mind if I use your computer?
-Do you mind my using your computer?
-No, I don’t. You can use it whenever you want.

1) Would you mind if they introduce any achievements of science and
advanced methods in livestock breeding?

2) Do you mind if I make a report on the problems of food supplies?

3) Do you insist that we should plough now? (on)

4) Do you mind if we apply these fertilizers to the soil during planting?
5) Will they object if we use these devices to stir the soil between rows,
to uproot and to bury weeds? (to)

(C) Exercise 12. Parephrase the following questions and let your
friend answer them. Use the prepositions where necessary.

Example: - Do you mind if I use your computer?
- Do you mind my using your computer?

- No, [ don’t. You can use it whenever you want.

1) Would you mind if they create a new mechanism?
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2) Do you mind if I make a report on agricultural problems?

3) Do you insist that we should sign the contract? (on)

4) Will they object if I use the car without asking for their permission?
(to)

5) Do you believe that we will restore the ecological balance on the
planet? (in)

6) Are you sorry that you are late? (for)

(B) Exercise 13. Open the brackets and use the gerund in the Active
or Passive Voice.

1) Nobody is surprised at his (to receive) a good mark.

2) Scientists insist on our (to protect) plants.

3) We are against flax (to harvest) too early because the fibers will be
fine and silky.

4) The student made a report on the effective soil management meas-
ures (to take).

5) We are for the samples of the soil (to send) to a soil-testing laboratory.

(B) Exercise 14. Insert prepositions (at, of, without, instead of) if it is
necessary.

1) People get tired ... doing the same work for a long time.

2) Agricultural science is worth ... developing.

3) What is the use ... creating new machinery?

4) Intelligent machines are clever ... performing various tasks.

5) You had better check the calculations ... doing another test.

6) Quick processing of information is impossible ... applying computers.
7) They suggest ... using modern spraying techniques.

8) We couldn’t help ... telling them about the results of the experiment.
9) I don’t mind ... staying in the country for another week.

10) ... answering my question he asked me his question.

(C) Exercise 15. Correct mistakes in the following sentences.

1) You have to avoid your use the pesticides improperly.

2) We liked the idea their adding fertilizers to the soil during ploughing
and harrowing.

3) There is little sense on your using spray mixtures to control some dis-
eases.
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4) We have many changes on the farm since our used of disease-resistant
varieties of cabbage.

5) Much depends from our improvement of the microclimatic conditions
and soil conditions.

(C) Exercise 16. Translate the sentences into English (using your ac-
tive vocabulary).

1) 3BuHUTE, YTO MBI HE CMOTJIM YYaCTBOBATh B CTYJIEHYECKOH HAydHOM
KOH(EpEHITUH.

2) 51 moMHIO, YTO TPENoaBaTeNb OOBSICHAI 3TO Ha 3aHATHH 110 TIPEAME-
Ty «TpakTopsl 1 aBTOMOOWII.

3) A cuprmman, 4To oH paboTaeT Ha OEIOPYCCKO-HEMEITKOM COBMECTHOM
IPEeIIpPUATHH.

4) M»I HacTauBajJM Ha TOM, YTOOBI HCIIOIB30BaTh YAOOPEHUS B KUAKON
dhopme.

5) On 3a T0, YTOOBI MBI BHEJIPSUTH HOBBbIE MPOrPaMMBI JJIs1 YMEHBILIEHUS
OoJe3Hell ckoTa.

(C) Exercise 17. Complete the following so as to use complexes with
the gerund. Use your active vocabulary.

1) There was no possibility of...

2) They saved time by...

3) He liked the idea of...

4) I don’t like...

5) There was an absolute proof of ...
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33AJAHUA ITO YCPC
N PEKOMEHJIAIIMA 11O UX BBIITOJIHEHHUIO

Tembl YCPC: Agricultural Machinery; Engine; Transmission Sys-
tem; Hydraulic System; Lubrication; Cooling System.

Oopa3zubst YCPC
(A, B)

Task 1. Read the text and do the exercises that follow.
The Ford Company

1. The Ford Company is known to be a technologically advanced
manufacturer of vehicles. For many years the Ford Company has been
deeply involved in the manufacture of tractors, cars and trucks. Ford
tractors enable farmers to work quickly and efficiently.

2. The cab is a comfortable and efficient workplace. Modern acoustic
systems have greatly reduced noise levels inside the cab. Transmission
controls have been mounted on the flat floor. Individual adjustable halo-
gen work lights have been installed into the cab roof.

3. The driver’s seat has been equipped with pneumatic suspension and
it turns easily and gives the driver a more comfortable view. Air filtra-
tion, efficient heating and ventilation with air-conditioning further en-
hance comfort and the driver’s efficiency. These tractors have also been
equipped with climate control filters and anti-burst door locks.

4. Ford tractors have been trusted by generations of farmers due to
their high quality.

Task 2. Find information in the text to answer the following questions.
1) What is the Ford Company known to produce?

2) What is the driver’s seat equipped with?

3) Why is the cab considered to be a comfortable workplace?

Task 3. Say if these statements are true or false. Correct the false ones.
1) The Ford Company produces not only cars but tractors and lorries.

2) Modern transmission controls have reduced noise levels.
3) The driver’s seat turns easily due to the pneumatic suspension.
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4) Ford cars help farmers to work quickly and efficiently.
5) These tractors have also been equipped with work lights.

Task 4. Translation check of the paragraphs 2 and 3. Use the dic-
tionary if necessary.

Task 5. Study the text once more and write the summary (3-4 sen-
tences).

Task 6. Find in the text the sentence with Complex Subject. Trans-
late it into Russian paying attention to the Complex Subject’s struc-
ture. Turn it into the Complex Object one.

Task 7. You are a sales manager at the Ford Company. Try to make
an advertising of a Ford tractor pointing out the main advantages of
it.

Task 8. Study the text once more and write a paragraph about the
Ford Company. (3-4 sentences).

(B)

Task 1. Read the text attentively for more details about the work of
the engine.
Engine

1. An engine produces power by burning air and fuel. The fuel is
stored in a fuel tank. The fuel tank is connected to a fuel pipe. The fuel
pipe carries the fuel to a fuel pump. The fuel pump is connected to the
carburetor. The fuel pump pumps the fuel into the carburetor. In the car-
buretor the fuel is mixed with air. The fuel and air are drawn into the en-
gine cylinder by the piston. Then the fuel and air are compressed by the
piston and ignited by the spark plug. They burn and expand very quickly
and push the piston down. Thus the power is produced. The burned fuel
and air are expelled from the cylinder by the piston.

2. The flow of gases into and out of the cylinder is controlled by two
valves. There is an inlet valve allowing fresh fuel mixture into the cylin-
der and an exhaust valve which allows the burnt gases to escape. There
are two basic engine operating cycles: the four-stroke cycle and the two —
stroke cycle.
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Task 2. Provide answers to the following questions.

1) Where do you know the power to be produced?

2) What is the fuel tank?

3) What unit is proved to be connected to the carburetor and what is its
function?

4) Where is the fuel mixed with air?

5) What is the function of the piston?

6) What part of the engine is considered to control allowing fresh fuel
mixture into the cylinder and escaping the burnt gases out of it?

Task 3. Read these gists of the text and find the one which corre-
sponds to the contents best. Add some information (1-2 sentences
more) to explain your choice.

1) In this text we consider the types of engines and their work.

2) This text deals with the two basic operating cycles.

3) This text provides information on the principles of the engine operation.
4) The text informs us of the engine, its function and principles of opera-
tion.

Task 4. Write the annotation of the text.

Task 5. Change the structure of the sentences below so as to keep
their meaning unchanged. Use:

The Complex Subject:
1) It is found that the fuel pipe carries the fuel to a fuel pump.

The Complex Object:
2) We found that the fuel and air are compressed by the piston.

The Objective Participial Construction:
3) You heard how the teacher was explaining the principles of the engine
operation.

The Subjective Participial Construction:

4) We saw that this group of researchers was experimenting with a new
diesel engine.
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The Nominative Absolute Participial Construction:
5) The burnt gases are produced and an exhaust valve is necessary to
allow them to escape.

The Gerundial Complex:
6) We were about to suggest that you should use the four-stroke cycle
engine.

©
Task 1. Read the text and do the exercises that follow.

Lubrication of Bearings

The machine tools in a workshop sometimes have their own electric mo-
tors, or they may take the power they need from a motor which feeds
several machines. The shafts which carry the power from the motor to
the machines need some kind of support to keep them steady. We call
these supports bearing. There are different types of bearings for different
purposes.

The rotating shaft bears on a stationary bush or tube. We therefore
have two metal surfaces in close contact with each other, and sliding
over each other often at high speed. This will cause friction and the bear-
ing will become heated. So we have to protect the metal surfaces from
overheating and damage. We can reduce the danger of overheating by
lubrication. We have a thin film of oil between the two metallic surfaces
to keep them apart. The internal friction of oil is much less than the fric-
tion between two solids, and generates less heat. Lubrication also offers
another advantage. A film of oil on the metal surfaces will prevent them
from corroding by protecting them from the air. We can use grease in
low-speed bearings and oily lubricant for high-speed bearings.

Task 2. Explain:

Why:

1) The shafts need some kind of support;

2) The bearing can become heated during its work;

3) We have to protect bearings from overheating and damage;

4) A thin film of oil protects bearings from overheating and damage;

5) We have to use different sorts of lubricant for low-speed bearings and
for high-speed bearings.
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What:

1) Supports shafts;

2) Can reduce the danger of overheating of bearings;

3) Sorts of lubricant are used to prevent overheating and corroding of
bearings.

How:

1) Shafts carry the power from the motor to the machines;

2) The lubrication is done.

Task 3. What branch of engineering does the text refer to?

Task 4. What specialists can the text be of use to?

Task 5. Complete these sentences using some information from the
text. Pay attention to the use of Non-Finite Forms of Verbs.

1) The internal friction of oil is known to ...

2) Lubrication gives the opportunity of...

3) A film of oil prevent bearings from corroding because of its ...

4) The bearings are certain to...

5) The machine tools have their own motors, the power they need ...

Task 6. Write the annotation of the text.
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4 IPUMEPHI PASHOYPOBHEBBIX 3AJAHUH IS KOHTPO-
JIAA PE3YJIBTATOB U3YUEHUS COAEPKAHUSA TEMbI

MeTtoanyeckne peKOMEHAANMHA K Pa3HOYPOBHEBBIM KOHTPOJIbLHBIM
3aIaHUSAM.

Crenyrone 3aJaHus MPOMEXYTOYHOTO KOHTPOJS 3HAHUHN
MpeHa3HAYCHbBI JIJIsi ONPEICICHNS YPOBHS BIIAJCHUS M3YUYCHHBIM JICKCH-
KO-TPaMMAaTHYECKHM MaTepHAJIOM 1o TeMe. MakcuMalibHas OlleHKa 3Ha-
Hui Ha 1 yposue (A) — 6 6annos, na 2 yposue (B) — 8 6annos, Ha 3 ypos-
ne (C) — 10 6annos.

Oo0pa3zen npoMeKYTOYHOTO TeCTa

3amaHus HEOOXOAMMO BBIMOJIHATH B TOM TOPSIJIKE, B KAKOM OHHU JIaHbBI
B T€cTC. EXxercises [1-4 BIMOMHATH B BuAe Kimtoda. [Ipemxmokenust Exer-
cise 5 HalmcaTh IOJHOCTHIO.

Exercise 1. Choose the correct form in each sentence.

1) The purpose of computers is help/to help farmers in some farm op-
erations.

2) IfI were an engineer I would to design/design tools.

3) They saw the tractor to cross/cross the field.

4) 1would like these fertilizers to be applied/ to apply regularly.

5) The republic knows/is known to be a traditional exporter of agricul-
tural products.

Exercise 2. Choose the correct word in each sentence.

1) Fertilizers in liquid form are applied by manure spreaders /sprayers.
2) A tractor can pull many kinds of crops/implements.

3) The secondary tillage equipment used by the farmer includes har-
rows/ combine harvesters.

4) Wheeled tractors /crawlers are used for general farm work.

5) Planting equipment/ cultivation machinery is used to place seeds in
the soil.
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Exercise 3. Put the verbs in brackets into the correct forms. Use par-
ticiple I or II.

1) They have the soil fertility (to improve) by the use of mineral fertil-
izers.

2) He was looking at the mower (to make) hay.

3) They were heard (to discuss) new methods of applying fertilizers.

4) The students of our department could see a combine harvester (to
cut) the standing grain.

5) This crop (to use) for many different purposes, man cultivates it all
over the world.

Exercise 4. Form the derivatives and complete the sentences.

To fertilize
To transmit

06pa3eu HTOr0oBOI0 JICKCUKO-IT'PAMMATHYECKOI'O TECTA

MeTtoauyeckne peKOMEHJANNHM K Pa3HOYPOBHEBBIM KOHTPOJIb-
HbIM 32/1aHUAM.

3anaHus A KOMIUIEKCHOTO TeCTHPOBAaHUS MpeaHa3HA4YeHbl 7S Ofl-
peneneHus YPOBHSA BIAJCHHUS H3YyYEHHBIM JIEKCUKO-TPaMMaTHUYECKUM
MaTepHaioM 1o TeMe. MaKCUMAalTbHBIN 0ajlT IpH OIlEHKE 3HAHWN Ha pe-
MPOAYKTUBHOM ypOBHE (4) — 6, HA MPOAYKTHBHOM (B) -8, Ha TBOpde-
ckoMm (C) — 10.

3anannss He0OOXOAUMO BBITIONHATH B BUJE KIIOYAa B TOM IOPSIKE, B
KaKoM OHH JaHBI B TECTE.

Exercise 1. Match the columns.

To work

To design

To speed

1) The rate of doing ... is sometimes given in terms of horsepower.

2) Farm chemicals and ... can be applied with accuracy and safety us-
ing the High Tech Air Applicator from Willmar.

3) Two ... ranges are provided: 0 to 8 km/h for harvesting and 0 to 16
km/h for road use.

4) A new model has a specific ...based on a synchromesh four-speed
gearbox.

5) In this ... the valves are overhead the engine and have a complex
design.

Exercise 5. Find the synonyms to the words or word combinations in
brackets.

The (1)... (a motor vehicle for pulling farm machinery or other heavy
loads) is the most important machine on the farm. There are two main
types: wheeled and (2) ... (a machine that moves by means of a track
over which it rolls).Wheeled tractors are classified according to the trac-
tive power which they develop at a certain (3)... (a measure of the time
in which something moves or happens). The (4) ... (mechanical or elec-
trical energy) is transmitted through various mechanisms to rear (5)... (a
round device that turns on a shaft that passes through its centre).

115

1) The experiments having been | a) Complex Object
carried out, the students started a
new series of tests.

2) This scientist is considered | b) Complex Subject
applying advanced methods of
research.

3) The use of the rotary hoe as a | c¢) Subjective Participial Construc-
cultivator attachment is known to | tion

be discussed by the engineers.
4) We know most power sprayers | d) Gerundial Complex
today to be of the hydraulic type.
5)We know of liquid fertilizers | e) Nominative Absolute Participial
being used in high-and low- | Construction

pressure and no pressure forms.

Exercise 2. Paraphrase by choosing the best form in each sentence.

1) Type of agricultural machines used to break down the soil before or
after a crop is sown or for covering seeds; (cultivation machines/ fertil-
izer distributors)

2) A motor vehicle for pulling farm machinery or other heavy loads; (en-
gine/tractor)

3) One of the components of the transmission system; (differential/
washer)

4) Maintenance activities applied to the harvesting equipment; (lubrica-
tion/ replacement of ploughshares)
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5) A component part of an agricultural machine that produces power by
burning air and fuel. (engine/ gearbox)

Exercise 3. Open the brackets and use non-finite forms of the verbs
(infinitive construction, participial construction, gerundial construc-
tion).

1) Second-year students are expected (to know) the basics of electricity.
2) New data let us (to carry out) another experiment.

3) Professor is interested in students (to complete) the research.

4) The car (to repair), the driver left the service station.

5) We want Belarusian agricultural products (to supply) to many coun-
tries.

Exercise 4. Put the following words into the correct sentences. Use
each word once only.

a) fertilizers

b) component parts
¢) engine

d) cooling system
e) filters

1) Every mechanical engineering workshop is equipped with machine
tools which are the main source for the manufacture of... for all ma-
chines and mechanical devices.

2) These... help to maintain internal cleanliness of the engine and protect
against wear and corrosion.

3) Farm chemicals and ... can be applied with accuracy and safety using
the High Tech Air Ride Applicator from Willmar.

4) Having entered the..., dust and dirt damaged the cylinders, pistons
and piston rings.

5) The primary job of the ... is to cool the engine and to keep it from
overheating.

Exercise 5. Complete these sentences with the right variant in brackets.
The combine harvester is used to harvest all types of grain and 1) ...
(seed crops, potatoes, beets). The combine cuts and threshes in one op-
eration. The self-propelled type has the threshing mechanisms powered
by 2) ... (power-take-off of a tractor, its own engine, cutting mecha-
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nism). All the controls used to operate the combine are known 3) ...
(closed to the driver, to be closed to the driver, to be fitted to the com-
bine). An air conditioned cab is used, dust problem 4) ... (being in-
stalled, being resolved, to be resolved). Self-propelled combines are
made in widths of 5) ... (engine, cut, tractor) ranging from about 1.5 m
to 6 m.
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5 KJIIOYM K 3AJJAHUAM AJISI CAMOKOHTPOJISA U TECTAM

S.

a) moJyIeKaIiee

B) 4aCTh COCTaBHOTO CKa3yeMOT0
C) 00CTOSITETECTBO

d) onpenencuue

€) TONOoJTHEHNE

Karoun k 3aJaHUSAM JICKCUKO-TPAMMATHY€E€CKOI0 MPOMEKYTOYHOTO

a) Complex Object
b) Complex Subject

a) Objective Participial
Construction

b) Subjective Participial
Construction

¢) Complex Object

d) Nominative Absolute Participial
Construction

TecTa

Exl Ex2 Ex3 Ex4 Ex5

I)to help | 1) sprayers 1) improved | 1) work 1) tractor
2)design | 2)implements | 2) making 2) fertilizers 2)crawlers
3) cross 3) harrows 3)discussing | 3) speed 3) speed
4) to be | 4) wheeled 4) cutting 4) design 4) power
applied tractors 5) used S)transmission | 5) wheel
5)is 5)planting

known equipment

Karoun k 3agaHusimM JIEKCHKO-TPAMMAaTH4Y€CKOI0 UTOr0BOI0 T€CTAa

Ham monpaBmitacek uies 0 TOM, 9TO
OH PAaCCKaKET O CEIbCKOXO3SHCT-
BEHHOU TEXHUKE.

10.

a) fertilizing equipment ( TexHHKa
IUTSE BHECEHUS YI0OpEHUH)

b) harvesting equipment (yoopod-
Has TCXHHKA)

¢) planting equipment (Trocago9Hast
TEXHHUKA)

Exl Ex2 Ex3 Ex4 Ex5
1)e I)cultivation | 1)) to know | 1)component | 1) seed
2)c machinery 2) carry out | parts crops
3)b 2) tractor 3)completing | 2) filters 2) its own
4)a 3)differential | 4) having 3) fertilizers | engine
5)d 4)lubrication | been re- 4) engine 3) to be
5) engine paired 5) cooling closed to
5) to be sup- | system the driver
plied (sup- 4) being
plied) resolved
5) cut
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